UGC NET 2021 Population Studies

Topic:- PopStudies_SHAAN_NOV21A

1) Which one of the following hypotheses proposed that migration is a natural outgrowth of disruptions and dislocations that
occur in the process of capitalist development?

forrarferRaa & A fop1 Yraweuon 3 yzenfia 3 &b yastar B 3Rl 3R fRrenue o1 Fanifae uf¥vier siar 3 it gellure Rt &t yfagen 3
afea aid 3 :

[Question ID = 10519][Question Description = S2_qSNz_PG_PPS_Q01]

Neoclassical economic approach/sma acnfim snféfa eftemior [Option ID = 12073]

New household economics of migration/uf¥qster &t o @c] srefearazens [Option ID = 12074]

Dual labour market theory/ggreai@ g1 amiz Brgia [Option ID = 12075]
World Systems theory/faea guneft Brgia [Option ID = 12076]

A WwWN =

Correct Answer :-
e Neoclassical economic approach/sra aenf3ia suféfa efteaior [Option ID = 12073]

2) |If triangle is healthy people, square is elderly and circle is men then which alphabet represents the

healthy, elderly men?

i Py W Tl &1 Gidd 8, 971 So1 3A1g & ARl Bl Jidd & 3R gd FI9! B Giad ¢ ol BH -1
HER TR, TSI AT & AN BT AT B 7

[Question ID = 10520][Question Description = S2_qSNz_PG_PPS_Q02]
A/A [Option ID = 12077]
E/E [Option ID = 12078]
B/B [Option ID = 12079]
D/D [Option ID = 12080]

A wWw N =

Correct Answer :-

e A/A [Option ID = 12077]

3) Which among the following is the ‘Boserupian’ response to higher population growth than resource?
forgatferRaa 3 3 Plat - AT AA1Erat B geloll I IcaaR slorRizRN gig B "IRBRRE yferan 2 ?

[Question ID = 10521][Question Description = S2_qSNz_PG_PPS_Q03]
1. Industrial innovation/ i3 srarar [Option ID = 12081]

2. Agricultural intensification/@f didiesur [Option ID = 12082]

3. Diffusion of innovation/smarar @1 g2z [Option ID = 12083]

4. Improvement of transport network/uf¥ager olcaa 3 Jeme [Option ID = 12084]

Correct Answer :-
e [ndustrial innovation/sfienf3ie orarar [Option ID = 12081]

4) Which one of the following equations is correct for estimating 4, from ,m,?

.m, ¥ ,q, B AHTH BH & ol FEeg afe g d aH - m a6 2

[Question ID = 10522][Question Description = S2_qSNz_PG_PPS_Q04]



1. q = Fl'knlllle ; _ Eanlllx)l
o 1+(_3_naxjnmx nx 1+(1_nax)nmx

[Option ID = 12085]
D) nm)
1+(_n_nax)nmx nx 1+("_nax)nmx

2. i

[Option ID = 12086]

[Option ID = 12087]
4 g = N(xmy) s n(,my)
SR o W T R R L

n

[Option ID = 12088]

Correct Answer :-
_nGm)  am)
1+ (_3 - nax)nmx

® nlx

[Option ID = 12085]

5) The |, column of a life table refers to one of the following:

ofiaol arRvfl @ |, ¥ BeifeRaa 3 o dféa 3 ?

[Question ID = 10523][Question Description = S2_qSNz_PG_PPS_QO05]
1. Number of person years lived/xidla fepe s cifep quf &t 2ien

[Option ID = 12089]
2. Probability of death/aeg &t Jismerer

[Option ID = 12090]
3. Number of persons living at exact age 'x'/dle 3 X' W Sfifda cafepedt 6t

[Option ID = 12091]
4. Total life time after 'X'/31R] 'X' @ d16 @t Sfidot ®Ict

[Option ID = 12092]

Correct Answer :-
o Number of person years lived/=Idia fbu s =ifth aut &t 2z

[Option ID = 12089]

6) Which of the following are identified as target indicators under the Poshan Abhiyaan?
A. Prevent and reduce stunting in children (0-6 years)

B. Reduce low birth weight

C. Reduce prevalence of anaemia among women and men

D. Reduce underweight in children

Choose the correct answer from the options given below:

forgatferRaa 31 21 Rped dwvr sifSriel & siasta Rifea e srar 3 ?

A. gzt (0 - 6 ad) 3 sgfaert & Amem ik 37 acren

B. forot Sted aSIol I acToll

C. afgensii siiz gyl d IbIeudl @ YAR DI Tl

D. sl 3 srcudstol @I acroll

ofi o s1u fweul & A A8 IR @I wRI6 HifvrT :

[Question ID = 10524][Question Description = S2_qSNz_PG_PPS_Q06]

. A, B, CandD/A, B, C siiz D [Option ID = 12093]

. A, B and D only/daer A. B 3iiz D [Option ID = 12094]
. A and D only/daet A siiz D [Option ID = 12095]

. A, Cand D only/aaet A, C siiz D [Option ID = 12096]

A W N -

Correct Answer :-



e A, B,CandD/A, B, C3iz D [Option ID = 12093]
7) Which of the following is the carrier of dengue disease?
forraiferRaa 3 21 ®let A1 oY Aot o1 arsd B :

[Question ID = 10525][Question Description = S2_qSNz_PG_PPS_Q07]
1. Aedes mosquito/eslst sreez [Option ID = 12097]

2. Housefly/aaxdt [Option ID = 12098]

3. Culex mosquito/@erar1 e [Option ID = 12099]

4. Anopheles mosquito/ueilwetist a2 [Option ID = 12100]

Correct Answer :-

e Aedes mosquito/ustst sz [Option ID = 12097]

8) Which one of the following indicators could be developed from the Census of India 2011 to establish the fact that
females are the head of the household in the absence of the male?

adf 2011 &I vRA DI SiePIvIel A foroliciRad 3 A Dlol -AT ADAD A AL DI FUMUA Dol D fe1u fqpRia fpar s Awar 3 o gaul &f
sroqui-erfer 3 Afden? ar &b FRawn diedl 3 ?

[Question ID = 10526][Question Description = S2_qSNz_PG_PPS_Q08]
Literacy rate/msrar a2 [Option ID = 12101]

Marriage rate/fqars g2 [Option ID = 12102]

Marital status/daifas Reafer [Option ID = 12103]

Work participation rate/or! 3@ a2 [Option ID = 12104]

A w N =

Correct Answer :-
e |iteracy rate/3mera g2 [Option ID = 12101]

9) What is the male literacy percentage of India, according to the Census 2011?

adf 2011 bl SePVIGH @ IGRIR HRA bl gSY ATGRAI ¢ a1l 3 ?

[Question ID = 10527][Question Description = S2_qSNz_PG_PPS_Q09]
1. 80.9%

[Option ID = 12105]
2. 79.8%

[Option ID = 12106]
3. 81.9%

[Option ID = 12107]
4. 78.8%

[Option ID = 12108]

Correct Answer :-
e 80.9%

[Option ID = 12105]

10) Which one of the following falls under perinatal mortality?

forsaiferRaa 3 A ®lel Aer:sIIa Fegar & siasia smar 3 ?

[Question ID = 10528][Question Description = S2_qSNz_PG_PPS_Q10]

1. Late foetal deaths/3m= @iferd spfir gy [Option ID = 12109]

2. Early neonatal deaths/sea @ offg @G g1y [Option ID = 12110]

3. Late foetal and early neonatal deaths/3= @ifera sl sii Steat & offg arg a1y [Option ID = 12111]

4. Early foetal and late neonatal deaths/yd @ifera spufier 3iiR Sioet & oIS R a1 1y [Option ID = 12112]

Correct Answer :-
e |ate foetal deaths/3m= oifers spfler g [Option ID = 12109]

11) Which of the following inputs are needed for doing a population projection using the Cohort Component method?
A. Age and sex distribution of population at the base year

B. Age-specific mortality rates of the base year

C. Age-specific out-migration rates of the base year

D. Age-specific fertility rates of the base year

Choose the correct answer from the options given below:



PIRBIC JHaed YAl BT GRIPT B SIeRIRSI YIUvl w3l 3q forgal forferee 3 2 fpardt sraeaasar usel 37
A. 3R ad 3 31y wd fefer fererur

B. sneme ad @ fafeifdee 3Ry ey <2

C. smanr ad @ faforfdee sy afddara g2

D. snerr ad @ fafoifdte 3Ry Ystoelorar <2

ofid fou o1 feseal & A A8 IR BT <RIl HIRIT :

[Question ID = 10529][Question Description = S2_qSNz_PG_PPS_Q11]

A, B, Cand D/A, B, Caiz D [Option ID = 12113]

A, B and C only/@aet A, B aiiz C [Option ID = 12114]
A, B and D only/dact A, B sfiz D [Option ID = 12115]
A, C and D only/dsaet A, C siiz D [Option ID = 12116]

A W N -

Correct Answer :-
e A B, CandD/A, B, Caiiz D [Option ID = 12113]

12) Which of the following are dimensions of geographic data?
A. Temporal

B. Thematic

C. Spatial

D. Positional

Choose the correct answer from the options given below:

forgot 3t A Blat - 1 siioNferd SIeT I TP IR 37

A. oIfers

B. frrpTa

C. FuBIRe

D. Reuferw

il feu sru el 3 A A8 IR DI WRIel B :

[Question ID = 10530][Question Description = S2_qSNz_PG_PPS_Q12]

. A, B, Cand D/A, B, C iz D [Option ID = 12117]

. B, Cand D only/aact B, C siiz D [Option ID = 12118]
. A, Cand D only/daet A, C siiz D [Option ID = 12119]
. A, Band C only/dsaet A, B siiz C [Option ID = 12120]

A w N =

Correct Answer :-
e A, B, Cand D/A, B, Csiiz D [Option ID = 12117]

13) Which one of the following states has recorded a decline in age at marriage during 2001 and 2011?

forgsiferRae fopa1 s @ adf 2001 3fiz 2011 @ Sizret fdars & SRy 3 @il oot di 3 ?

[Question ID = 10531][Question Description = S2_qSNz_PG_PPS_Q13]
1. Tamil Nadu/dficterrg [Option ID = 12121]

2. Andhra Pradesh/aiig ygor [Option ID = 12122]

3. Kerala/@3e [Option ID = 12123]

4. Maharashtra/ssrreg [Option ID = 12124]

Correct Answer :-
e Tamil Nadu/afdererg [Option ID = 12121]

14) The mean length of a generation is associated with
A. Fertility

B. Mortality

C. Migration

D. Stable population

E. Population open for migration

Choose the correct answer from the options given below:



fop2ft didl bl amre=r ciar by Jag 3 ?

A. ystotorar

B. gca s

C. yaiat

D. Rer SorRiz

E. yatel yaur SielizIm

i) feu a1u faedl 3 A A IR @1 RIS B :

[Question ID = 10532][Question Description = S2_qSNz_PG_PPS_Q14]

1. A and B only/dact A siiz B [Option ID = 12125]
2. Band C only/d@aet B siiz C [Option ID = 12126]
3. Aand D only/@acr A siiz D [Option ID = 12127]
4. D and E only/aae D siiz E [Option ID = 12128]

Correct Answer :-
e A and B only/daer A 3iiz B [Option ID = 12125]

15) Which one of the following terms correctly describes the migration ratio?

forgsiferRae 31 3 PBlel AT Us Yguiol 3folUId Pl A3l quier a1 3 ?

[Question ID = 10533][Question Description = S2_qSNz_PG_PPS_Q15]

. The ratio of net migration to natural increase of population/foract ysiolol 3l Storizen &t Famsfdd qfg @I sigqurd [Option ID = 12129]
. The ratio of out-migration to total mid-year population/sféydgsier iz 3w adare sorRizen 1 sgurd [Option ID = 12130]

. The ratio of in-migration to total mid-year population/sieaygsiet 3iiz e adaer SloRREI @I 3igfurd [Option ID = 12131]

. The ratio of total migration to total mid-year population/mm] ygsier 3l agel aufare SRR oI sigurd [Option ID = 12132]

A W N -

Correct Answer :-
® The ratio of net migration to natural increase of population/fomct ysiolol 3iiR SloRizzn 6t Famfdd gig @I sioqurd [Option 1D = 12129]

16) Given below are two statements
Statement I: Natural endowment is essential for the growth of any settlement
Statement Il: Ganga plain is a densely populated region in India

In light of the above statements, choose the correct answer from the options given below

ofiI <1 Dot Ru sme 3 :

@erel - | ¢ Rpflt sermaa &t giy @ e grapfere Juer siferart 3

@l - || : siem oT ATl MRA 3 Hofl SIeRIzIT arel 8 3

SWRIFP Pcll @ 3Mrelld #, ofld 3w s1e el 3 A A8l Iar @I wrI6t HifSte :
[Question ID = 10534][Question Description = S2_qSNz_PG_PPS_Q16]

Both Statement | and Statement Il are true/em | i || Geit 2= &  [Option ID = 12133]

Both Statement | and Statement Il are false/@erwr | 3iiz || Siaif sRicer & [Option ID = 12134]
Statement | is true but Statement Il is false/@emo1 | a1 8 , fpoq @eret |l sRI=r & [Option ID = 12135]
Statement | is false but Statement Il is true/wmemwr | sRicr 8 , fbog @eret || A= & [Option ID = 12136]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/@erwr | 3iz |l Greli A= & [Option ID = 12133]

17) Arrange the following countries in the descending order with respect to volume of international migrants outflow
according to International Migration Report (2019)?

A. India

B. Mexico

C. China

D. Russia

E. Syrian Arab Republic

Choose the correct answer from the options given below

IRRISERT ygstel 2ulé (2019) o SoIR forgsiferiRaa Soll ol sforerecl yaril afdsisrer b Ay @ Aocs! i RIS Ba I walFea Hifie :

A. sara



B. aferrdl

C. o

D. 3

E. fifens sra smordg

ofid o s1u fwseal & A A8 IR BT wRI6l HIfvIT :

[Question ID = 10535][Question Description = S2_qSNz_PG_PPS_Q17]

1 E, D, B [Option ID = 12137]
2. A, B, C, D, E [Option ID = 12138]
3. B, A, C, E, D [Option ID = 12139]
4. E, C, A, B, D [Option ID = 12140]

Correct Answer :-
e C, A E, D, B[Option ID = 12137]

18) Match List | with List Il

List | List Il

A. Change in population growth away from the largest cities in a national urban system I. Urban growth

B. Extension of social and behavioural characteristics of urban living across society as a whole|ll. Urbanisation

C. An increase in the population of town and cities lll. Counter-urbanisation
D. An increase in the population of the total population that lives in an urban area IV. Urbanism

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifsre :

et -1 et -1l

A. IR 9168t gutrchl if A a3 91630 A 3UCIPT SlolAI=T 3 I. oSt 9t
B. igui wu A 9r6d arct & ARNRIE AR *Masr AHded

ferorarerait @t farare Il. o

C. @t stz o3t B arard & g . ofer -

) 9IESIHuT

D. orz$t il d Fsol archl qg Sl bt IRn & sgqura i afy V. esdiuer

oif<l fGu ore fedl 3 A A8 3R gfore :
[Question ID = 10536][Question Description = S2_qSNz_PG_PPS_Q18]

A-1,B-1V,C-1l,D-Ill [Option ID = 12141]
A-1Il, B-1IV,C-1l,D-1I[Option ID = 12142]
A-1,B-1ll,C-1l, D -1V [Option ID = 12143]
A-1Il,B-1V,C-1,D-Il[Option ID = 12144]

A WN -

Correct Answer :-
e A-I,B-1V,C-Il,D-Ill [Option ID = 12141]

19) According to the 2020 SRS Bulletin of India, which one of the following states recorded the highest Crude Death Rate
(per 1000 population)?

Rd 3 2020 ©A 3R TA gelfital D 3relAR foraifelRaa 3 21 v s 3 srenféra e 52 (yfer 1000 SierRizen) aifere oot & o 3 ?

[Question ID = 10537][Question Description = S2_qSNz_PG_PPS_Q19]
1. Bihar/Rwrz [Option ID = 12145]

2. Chhattisgarh/sdfwere [Option ID = 12146]

3. Madhya Pradesh/aizzrgger [Option ID = 12147]

4. Uttar Pradesh/3a= ggor [Option ID = 12148]

Correct Answer :-
e Bihar/fdsr [Option ID = 12145]

20) Which of the following are preconditions for substantial fertility decline as suggested by Ansley Coale?
A. Consistent and irreversible decline in mortality

B. Acceptance of calculated choice as a valid element in marital fertility

C. Perception of advantages from reduced fertility

D. Knowledge and mastery of effective techniques of control

E. Ideational diffusion of small family norms from urban to rural areas

Choose the correct answer from the options given below:



forget 3 A dlat - M1 getotoran 3 s1rfl Brrac & gdord 3 511 b Y2ret wlena of yranfaa fopan 3 :
A. IeR # Jera 3R yraradotia Brac

B. daifd® Ysteteran 3 Al - ersh aRIol oI d¢ aca @ »U 3 FAIDR D6l

C. @3 31 315 YSlololdI A lol arcl crsll BT YeAsior

D. foriqur & gairdl amefial @I 16T 3R 3o UR B8R

E. 81 ufsar @& et @1 963t Sl 2 SYEiivl Siql 3 YRRIKHD YRUT

ofi o s1u fwedl & A A8} 3R @I wRI6 HifsrT :

[Question ID = 10538][Question Description = S2_qSNz_PG_PPS_Q20]

1. A, B, C and D only/a@act A, B, C siiz D [Option ID = 12149]
2. C, D and E only/aaea C, D siiz E [Option ID = 12150]

3. A, B,C,DandE/A, B, C, D3z E [Option ID = 12151]

4. B, C and D only/daa B, C siiz D [Option ID = 12152]

Correct Answer :-
e A, B, CandD only/adaet A, B, C siiz D [Option ID = 12149]

21) Which one of the following countries recorded the highest deficit of ecological reserves (in hectares per capita)?

forgotferRaa 3 A oo e 3 uifiR-erferdiar Fifda g o wraifers g1 (yfer cafes 3aeas ) oot o swrm 37
[Question ID = 10539][Question Description = S2_qSNz_PG_PPS_Q21]

1. United States of America/3R[Dp s 3@iR@r [Option ID = 12153]
2. China/dter [Option ID = 12154]
3. Qatar/@az [Option ID = 12155]
4. India/sma [Option ID = 12156]

Correct Answer :-
e United States of America/3Rp s @iy [Option ID = 12153]

22) What are the basic principles of communication processes?
A. Who said

B. What

C. Whom through

D. What effects

Choose the correct answer from the options given below:

JAarure yfgznsil & Jer RBrgia o & ?

A. Rp3ra1 @er ?

B. o= war?

C. Rpad e A ?

D. @=m gema ust ?.

il fou s1u freseul 3 2 & IR BT w6l HIfSIE ©

[Question ID = 10540][Question Description = S2_qSNz_PG_PPS_Q22]

A, B and C only/dact A, B aliz C [Option ID = 12157]
A, B, Cand D/A, B, C iz D [Option ID = 12158]

A, C and D only/daact A, C siiz D [Option ID = 12159]
B, C and D only/dact B, C siiz D [Option ID = 12160]

A W N -

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 12157]

23) Which of the following statements represent the direct impact of declining mortality on population age structure?
A. In a high mortality society, a drop in mortality increases the proportion of children and young people

B. In a high mortality society, an increase in dependency ratio may occur

C. In a high mortality society, a drop in mortality decreases fertility

D. In a low mortality society, a drop in mortality will age the population

Choose the correct answer from the options given below:



fo1ao1 31 3 Dol - AT UMHDAGT ST DI IR FHFoll UR Bl 5% g 52 D Y @I AT aviol w2l &
A. Jta g TSt d Pog o2 3 Briac A sl vd silsidrell ®T 3igfUId 96 SIldT 3

B. S=a gcy <= arcl JarS 3 forizen sioura 3 gig 81 Al &

C. Sta g <= arcl AA A Fog 2 A BRIac A Ysiolordl daA 3 Sirdl

D. forot gcyg <= arcl AT A JFg <2 A BRIAc A SRR SIcdt g 8l SIiedl 8

il fou s1u frpeul 3 A I IR BT w6l HIfSIE ©

[Question ID = 10541][Question Description = S2_qSNz_PG_PPS_Q23]

A, B and D only/d@act A, B aiiz D [Option ID = 12161]
A, B, Cand D/A, B, C aliz D [Option ID = 12162]

A, C and D only/@act A, C siiz D [Option ID = 12163]
B, C and D only/dact B, C siiz D [Option ID = 12164]

A W N -

Correct Answer :-
e A, BandD only/aact A, B 3iiz D [Option ID = 12161]

24) Arrange the following climate change conferences in chronological order with respect to the years in which they were
held:

A. Copenhagen Convention

B. Kyoto Summit

C. UN Framework Convention on Climate Change(UNFCCC)
D. UN Climate Conference at Bali

E. The Cancun Convention

Choose the correct answer from the options given below

forgot Stctary el AFaNcIol DI BRI ad 3 RN 5§ 3AD MR U2 ARIE! a9t 3 TPy ©
A. DIUGISsIel AFCToT

B. giIel w1sdietolr

C. Srerary uf¥adol Jdefl PP WSS, BIAD AATToId

D. arcit 3 A e SIerary JAFdiciol

E. @lorast Jsdciol

il fou s1u Rreseul 3 A & IR BT a6l HIfSIE ©

[Question ID = 10542][Question Description = S2_qSNz_PG_PPS_Q24]

D, E [Option ID = 12165]
C, B [Option ID = 12166]
, A, E [Option ID = 12167]
A, E [Option ID = 12168]

A WN -

Correct Answer :-
e A B, C, D, E[Option ID = 12165]

25) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Population momentum is the tendency of population expansion despite attainment of replacement level of
fertility
Reason R: Population momentum leads to the old age structure

In light of the above statements, choose the most appropriate answer from the options given below

ofid Al werol v a1 3 ;. uop sifdrerct (A) & %wu 3 fiRaa 3 @ gar1 3ud @Rl (R) & »a 3 :
aifdrperet (A) @ STeRITRI ST YSleloldl @ Yool ¥R &I YIffI & arasig sleRizn Rrar &t yafe 3
®RuT (R) : SoRizs AT A g IR arcl Fzeen forfdfa axdt 3

SWRITP Pl @ 3Mrelld d, ofld 3w s1u Rapedl 3 A AR IuYP IR DI ol HIRIT ©

[Question ID = 10543][Question Description = S2_qSNz_PG_PPS_Q25]



Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 38t 3 3l (R), (A) &t 3 =mz=n & [Option ID = 12169]

Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) Sl 3&t & wesq (R), (A) &t 3 s o1dt & [Option ID = 12170]
A is correct but R is not correct/(A) & & weoq (R) @t oét & [Option ID = 12171]

A is not correct but R is correct/(A) & ot 2 wesg (R) 3& & [Option ID = 12172]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 3@l & 3k (R), (A) &1 38 =z & [Option ID = 12169]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: In pre-transitional societies, death is common, unpredictable, and can happen at any age
Reason R: In post-transitional societies, death is uncommon and restricted almost entirely to the elderly

In light of the above statements, choose the most appropriate answer from the options given below

ofld A werot fSu a1 3 ;. uop sifdrverct (A) & wu 3 fiRaa 3 @ gzt 3ud orvr (R) & »a 3 :
tfdrperet (A) : Fapifer - ud wesil 3 Fog A i forffaa acor 3 3iiz Rl oft 3y & afea a1 Ao 3
@RI (R) : a2 - Agifa A3msl 3 P SRIEIG iR cenPI gulaRn g Skl ae Hifda acon 3

IWRAD Bl D el 3, ofid f5u sre fravedl 3 A AR WD IR DI RIol HIfSIT :

[Question ID = 10544][Question Description = S2_qSNz_PG_PPS_Q26]

Both A and R are correct and R is the correct explanation of A/(A) 3z (R) cleil 38t 3 3z (R), (A) &t 31 =men 2 [Option ID = 12173]

Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 3@ & udoq (R), (A) &I 3@ == ot & [Option ID = 12174]
A is correct but R is not correct/(A) & @ u3sq (R) 2@t a1dt & [Option ID = 12175]

A is not correct but R is correct/(A) & ot 8 weog (R) &t & [Option ID = 12176]

A w N =

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) gleil 28l & 3z (R), (A) &6l 3@ en 2 [Option ID = 12173]

27) ldentify the correct sequence of GIS activities
A. Spatial data input

B. Entering of attribute data

C. Spatial analysis

D. Data verification and editing

E. Spatial and attribute data linkages

Choose the correct answer from the options given below

it 35 g faprmasendl o1 A8 aat adIe :

A. Fenfore 3iasT 3NGTol

B. apur vdieht sripst & gfafee

C. reform fpecsuor

D. sriasi @1 Acamue 3R AurGet

E. enfore siiz syt et sricpsi & JAuw

it fou o1 frpeul 3 A &l IR DI TI6T HIfSIE ¢

[Question ID = 10545][Question Description = S2_qSNz_PG_PPS_Q27]

1. A, C, B, D, E [Option ID = 12177]
2. A, B, D, E, C [Option ID = 12178]
3. A, B, E, D, C [Option ID = 12179]
4. A, C, D, B, E [Option ID = 12180]

Correct Answer :-
e A C, B, D, E[Option ID = 12177]

28) Which of the following classifications of the population by marital status has been recommended by the U.N.?
A. Single (Never Married)

B. Married (Currently Married)

C. Widowed

D. Divorced

Choose the correct answer from the options given below:



YD A, oY Jaifdep Rrerfer @ smerR uR sroRizsar @ fowafeRaa 3 A e aeffazur 6t ixqfer 61 3 ?
A. vwa (sifaanfda)

B. faifda (aciermet 3 faranfde)

C. faerar, faeR

D. dacirgrer

ofid 3w a1 fwseal & A A8 IR BT wRI6T BT :

[Question ID = 10546][Question Description = S2_qSNz_PG_PPS_Q28]

A and C only/d@aet A siiz C [Option ID = 12181]

A, B and C only/aact A, B aliz C [Option ID = 12182]
B, C and D only/a@aet B, C siiz D [Option ID = 12183]
A, B, C and D/A, B, C siiz D [Option ID = 12184]

A w N =

Correct Answer :-
e Aand Conly/aqet A siiz C [Option ID = 12181]

29) Which of the following are mathematical models for population projection?
A. Geometric

B. Cohort-component

C. Logistic growth model

D. Linear growth model

E. UN model life table

Choose the correct answer from the options given below:

foraot 3 31 lol - AT STeRiTCA YgIuvT g 101 Jdsieh sifser 3 ?
A. a3

B. ®1EIE - acw

C. difsifica gfy; sifser

D. it gfy; sfsar

E. 3, vol. 3ise Siiael arfermr

i) feu s1u famedl 3 A A8 IR D1 TRIet BRI :

[Question ID = 10547][Question Description = S2_qSNz_PG_PPS_Q29]

1. A, B and C only/daet A, B siiz C [Option ID = 12185]
2. B, C and D only/d5aa B, C sfiz D [Option ID = 12186]
3. C, DandE only/a@ae C, D siiz E [Option ID = 12187]
4. A, Cand D only/daer A, C 3iiz D [Option ID = 12188]

Correct Answer :-
e A, Band Conly/aac A, B siiz C [Option ID = 12185]

30) In which one of the following states, the lowest rural female literacy was recorded according to the Census 2011?

adf 2011 bt SIePMIGH & eRIR foafeRaa 3 A e Isa i Yeraa Alden AeRar &2 gsf &l o ?

[Question ID = 10548][Question Description = S2_qSNz_PG_PPS_Q30]
Bihar/Rwm [Option ID = 12189]

Rajasthan/zmrenst [Option ID = 12190]

Odisha/aif¥er [Option ID = 12191]

Jharkhand/=m=zs [Option ID = 12192]

A W N -

Correct Answer :-
e Bihar/fdsr [Option ID = 12189]

31) Lack of which one of the following is NOT considered as a 'Micronutrient Deficiency'?

forgatferi¥aa 3 A v 3 'JgAUIND ded Dl o181 Alel ST 3?7
[Question ID = 10549][Question Description = S2_qSNz_PG_PPS_Q31]



Iron/edis [Option ID = 12193]
Zinc/fiw [Option ID = 12194]
Fluorine/uegsiif¥at [Option ID = 12195]
Sodium/2fS=@r [Option ID = 12196]

A W N -

Correct Answer :-
® [ron/dils [Option ID = 12193]

32) Arrange the following states in descending order with respect to increase in the number of Census towns between
2001-2011 intercensal period

A. Uttar Pradesh
B. Maharashtra
C. West Bengal
D. Kerala

E. Tamil Nadu

Choose the correct answer from the options given below

2001 - 2011 &bl 316e SIGPIVIGN @i @ dia SToPIVIGH 91831 Ol en 3 gig D Ade I foafciRaa JsAl ol RIS (31D A Da) i d
wraf¥erda Hifsme :

A. 3= ggar

B. FsRITY

C. uf2peft domer

D. @a

E. afircong

il fou s1u frpeul 3 2 & IR BT a6l HIfSIE ¢

[Question ID = 10550][Question Description = S2_qSNz_PG_PPS_Q32]

, A, D [Option ID = 12197]
C, D [Option ID = 12198]
, A, B [Option ID = 12199]
A, E [Option ID = 12200]

b=
O N mm
WO W W

Correct Answer :-
e E B, C, A D[Option ID = 12197]

33) Given below are two statements
Statement I: In the age group of 60+, the sex ratio (the number of females per 100 males) is favourable to women
Statement II: In the age of 0-6, the sex rate is favourable to men

In light of the above statements, choose the correct answer from the options given below

il ol el fdu sre 3 ¢

@eel - | @ 60 arf A s1f2rd o 3Ry e I feisT srgpura (gfer 1000 gaul uz aAfdeniaii &I i) Afdernsii @ efad 8
@ol - || : 0 - 6 ad @ 3>y s I i1 3rofurd g=ul 3 efdel &

IR PGl D 3HIclip i forvorfeiRaa faaeul 3 A 8T 3= ol :

[Question ID = 10551][Question Description = S2_qSNz_PG_PPS_Q33]

1. Both Statement | and Statement Il are true/wermt | iz |1 Sleit 31ét & [Option ID = 12201]

2. Both Statement | and Statement Il are false/emt | siiz || G¥6il stler@ & [Option ID = 12202]

3. Statement | is true but Statement Il is false/mewer | 31 8, fdbog et |l srera & [Option ID = 12203]
4. Statement | is false but Statement Il is true/ermer | 31 A1 8 , fboq @eret |l 3t & [Option ID = 12204]

Correct Answer :-
e Both Statement | and Statement Il are true/eemr | siiz |l Sr6if 2t & [Option ID = 12201]

34) Which of the following themes are incorporated in the vision of the National Health Mission?
A. Universal access to equitable, affordable and quality health services

B. Accountable and responsive health services

C. Intersectoral convergence

D. Architectural corrections in the health system



Choose the correct answer from the options given below:

IR TR Bigrer 6 fstar 3 foret 3 A Blar - 2 frerrasq @t onfirer fop=n s & ?
A. JHAIR®, AFAI Bd IUICHD FARL Aarsil bl Adgerrer

B. Stare¢s ud sieffepRica® Fared Adrg

C. sia:z3kI SfiRIRUT

D. varzeu yurrell 3 IraclcADILR

ofi o s1u feseal & A A8} IR BT wRI6l BT :

[Question ID = 10552][Question Description = S2_qSNz_PG_PPS_Q34]

A only/dsaet A [Option ID = 12205]

A and B only/dact A siiz B [Option ID = 12206]

A, B and C only/daet A, B aiiz C [Option ID = 12207]
A, B, Cand D/A, B, C 3liz D [Option ID = 12208]

A W N -

Correct Answer :-
e Aonly/dact A [Option ID = 12205]

35) Which of the following data sources provide mainly old age health data?
A. UNFPA-BKPAI

B. LASI

C. WHO-SAGE

D. NFHS

E. DLHS

Choose the correct answer from the options given below:

forgot 3 A Blet - AT STeT JPA FTN IU A FgIazaAl Adef FARLA SIer Iucree] A 3 ?
A. UNFPA-BKPAI

B. LASI

C. WHO-SAGE

D. NFHS

E. DLHS

ofid fou s1u feseal # A A8 IR BT <RI BT :

[Question ID = 10553][Question Description = S2_qSNz_PG_PPS_Q35]

A, B and C only/@aet A, B iz C [Option ID = 12209]
B, C and D only/a@5aa B, C sfiz D [Option ID = 12210]
A, D and E only/d@ae A, D siiz E [Option ID = 12211]
C, D and E only/@aa C, D siiz E [Option ID = 12212]

A w N =

Correct Answer :-
e A, Band Conly/@ad A, B siiz C [Option ID = 12209]

36) What is the rate of natural increase in world population today?

acdatret 3 frasierizen 3 grapfere gfis &t o2 o= 3 ?

[Question ID = 10554][Question Description = S2_qSNz_PG_PPS_Q36]
1. 2.5%

[Option ID = 12213]
2. 5.2%

[Option ID = 12214]
3. 3.7%

[Option ID = 12215]
4. 1.4%

[Option ID = 12216]
Correct Answer :-
e 2.5%

[Option ID = 12213]



37) Match List | with List Il

List | List Il

A. Dual Labour Market Theory I. Ravenstein
B. Laws of Migration Il. Hugs

C. Social Networking Theory Ill. Wallerstein
D. World System Theory IV. Piore

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 il

A. SHIEHD 9 d6IR Rigia |. IdorréiRret
B. yasia @1 RBigia 1. g

C. i sfcaw Rigia Ill. arcrz ¥esol
D. faea guicht Rigia IV. R

oiiI fSu are famedl 3 A A8 IR ot :
[Question ID = 10555][Question Description = S2_qSNz_PG_PPS_Q37]

A-1lI,B-1V,C-1,D- Il [Option ID = 12217]
A-1,B-1l, C-1ll,D- IV [Option ID = 12218]
A-1V,B-1,C-1I, D - lll [Option ID = 12219]
A-11,B-1ll, C-1V, D - [Option ID = 12220]

A W N =

Correct Answer :-
e A-IlIl,B-1IV,C-1,D-Il[Option ID = 12217]

38) Match List | with List Il

List | List Il

A. World TB Day 1. 11 July

B. World Health Day Il. 24 March

C. World AIDS Day lll. 7 April

D. World Population Day IV. 1 December

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 et -1

A. Rrea aaRa Raw I 11 gperé
B. Rrea vares Raa Il 24 @t
C. Rea uga Raa 1. 7 e
D. Rva srorizsa Razt IV. 1 Reiee

oif<l féu ore fqedl 3 A A8 3R gfore :
[Question ID = 10556][Question Description = S2_qSNz_PG_PPS_Q38]

A-1,B-1l,C-1ll, D - IV [Option ID = 12221]
A-1,B-1ll,C-1V, D- I [Option ID = 12222]
A-1l,B-1V, C-1,D - Il [Option ID = 12223]
A-1V,B-1ll, C-1I, D - I [Option ID = 12224]

A W N -

Correct Answer :-
e A-I,B-1l,C-Ill,D-IV[Option ID = 12221]

39) Identify the correct sequence of initiation (the oldest to newest) of the following demographic surveys:

A. SRS
B. NSS
C. NFHS
D. LASI
E. IHDS

Choose the correct answer from the options given below

forgaifeiRaa SrerRTiReIbRT A0l & Ry (IR YRIe! A Idlelds) BT A3t oI dars
A. 1 3R TA

B. wol vt va



C. el o wa gA

D. va g o uré

E. an$ wa & o

offa fou s1u fyeseul 3 2 & 3= goi ¢

[Question ID = 10557][Question Description = S2_qSNz_PG_PPS_Q39]

E, D, A, C [Option ID = 12225]
B, C, D, E [Option ID = 12226]
, A, C, E, D [Option ID = 12227]
E, D, A, B [Option ID = 12228]

)

A W N -

» Y

Correct Answer :-
e B, E, D, A, C[Option ID = 12225]

40) Match List | with List Il

List | List Il

A. Continued population growth will lead to l.
certain worldwide economic and environmental [Thomas

collapse Malthus

. . 1. Karl
B. Population growth stimulates development

IMarx

C. Population growth has nothing to do with lll. Julia
economic development Simon
D. Power of the population is indefinitely greater IV. Paul
than the power of the Earth to produce Eh‘rlich

subsistence for man

Choose the correct answer from the options given below:

Lt -l oot 3Eh -1l A Fgafera HifSie :

et -1 et -1l
A. Storizen # foRaR gl A oo difae snfie siie |. emera1
wrRifazvilRl udet dlen HTCERT
. ! Il. et
B. Storizear 3 gfi; A fRIdRI @ GicArsdt g iar 3 ‘
C. storizs gigot sufRfa fiwrr A B Jder oidl diar il
& 1
R_ATSHol

D. Storizear &t 91ftp, Aesa @ fere gedt grr Shfamr IV. dier
Bctool 2ol i oIfep A Siforfad ol & R ot At 3 [waferd

oiiI fSu a1u famedl 3 A A8 IR ot :

[Question ID = 10558][Question Description = S2_qSNz_PG_PPS_Q40]
1. A-IV,B-1lIl,C-1I,D-1

[Option ID = 12229]
2. A-ULB-IV,C-1I,D-1

[Option ID = 12230]
3. A-IV,B-1I,C-1Il,D-I

[Option ID = 12231]
4. A-1,B-1I,C-1,D-1V

[Option ID = 12232]
Correct Answer :-
® A-IV,B-1Ill,C-1Il,D-1
[Option ID = 12229]

41) Arrange the following countries in descending order in terms of their relative share of fossil CO, emissions globally in
2019:

A. European Union and the UK



B. United State of America
C. Russia
D. India
E. China

Choose the correct answer from the options given below

forgarfeiRaa Sonf 1 2019 & dffam Faz uz Shiares dIdel sifaarss @ ATUeT 3 & gst 3 aRId war A =raf¥era HifSo

A. IR Yforrel 3R Yelrses fporsH
B. 3y s syt

E. dier
ofl feu a1g fawcul & A A8 a2 B aRIol HifSIw :
[Question ID = 10559][Question Description = S2_qSNz_PG_PPS_Q41]

1. E, B, A, D, C [Option ID = 12233]
2. E, B, D, A, C [Option ID = 12234]
3. B, E, D, A, C [Option ID = 12235]
4. B, E, A, D, C [Option ID = 12236]

Correct Answer :-
e E B, A, D, C[Option ID = 12233]

42) Given below are two statements
Statement I: Women play an important role in natural resource management
Statement Il: Woman are more technically skilled for management of natural resources

In light of the above statements, choose the most appropriate answer from the options given below

ofid &1 perer Ru sme 3 :

ool - | : yrapfere Fmere gdere! 3 afdart sswagul gyt foremdl 3

@l - || : gropfere dAiersil @ yetror & fére Afdari awmofidl u A sifere qmere axdl &
SWRITP Pl @ el d, ofld [3u s1u Rapedl 3 A AR IuYP IR DI RIol HIRIT ©
[Question ID = 10560][Question Description = S2_qSNz_PG_PPS_Q42]

Both Statement | and Statement Il are correct/@errt | diiz |1 Gleil 2 & [Option ID = 12237]

Both Statement | and Statement Il are incorrect/a@erwer | iz 1l GXali sieta & [Option ID = 12238]

Statement | is correct but Statement Il is incorrect/@emt | 31t 8, fpoq weret |l siea 8 [Option ID = 12239]
Statement | is incorrect but Statement Il is correct/ et | s1ei & , fpoq et |l 2@t 8 [Option ID = 12240]

A wWwN -

Correct Answer :-
e Both Statement | and Statement Il are correct/@emt | 3z Il gleif 28 & [Option ID = 12237]

43) The characteristics of a stable population are:
A. Total size of the population is constant

B. Annual birth and deaths are constant

C. Age composition is invariable

D. Crude birth rate is equal to the crude death rate

Choose the correct answer from the options given below:

ez StorRizear &t fadraans 3

A. SIoRITRI T oel PR ¥eR a1 3

B. aiftfes Sios wd gy e Bl &

C. 31 JECal 3R Bl 3

D. sRioNf2rd stear ¢ 9N g 2 B TRIaR Bl 3

ofid fou a1 fweal & A A8 IR BT wRI6T HIRdIT :

[Question ID = 10561][Question Description = S2_qSNz_PG_PPS_Q43]



A only/@aet A [Option ID = 12241]

A and B only/dact A siiz B [Option ID = 12242]

A, B and C only/@aet A, B iz C [Option ID = 12243]
A, B, Cand D/A, B, C iz D [Option ID = 12244]

A W N -

Correct Answer :-
® A only/adaet A [Option ID = 12241]

44) Which one of the following is the most appropriate to model the age specific pattern of mortality rate from birth to old
age?
forgatferRaa 3 A1 Plel -AT STod A FgaTe b Jg G2 D AR fafdrse Teot o1 gl TR Bl & fere Aaifere Iy 3 ?

[Question ID = 10562][Question Description = S2_qSNz_PG_PPS_Q44]
1. Gompertz model/situcst sifser [Option ID = 12245]

2. Logistic model/enfoi3e ditser [Option ID = 12246]

3. Heligman-Pollard/3femmer dlers [Option ID = 12247]

4. Makeham model/@da aifse [Option ID = 12248]

Correct Answer :-
e Gompertz model/slmcst sifset [Option ID = 12245]

45) Who among the following are associated contribution to the theories of population?
A. Marquis de Condorcet

B. William Godwin

C. D. H. Meadow

D. A. Omaran

E. Giovanni Botero

Choose the correct answer from the options given below:

forgot 31 A P SreRIzE & sraermRunsil 3 MK Jat A IAdg fpar s 3 ?

A. mfA © BRI

B. faferra sifsfeer

C. 31 wa. st

D. ©. 3Rl

E. Rriach aar

il feu sru farsedl 3 A A8 IR D1 WRIel B :

[Question ID = 10563][Question Description = S2_qSNz_PG_PPS_Q45]

1. A, B and C only/daet A, B siiz C [Option ID = 12249]
2. B, C and D only/d@5aa B, C sfiz D [Option ID = 12250]
3. C, D and E only/aaa C, D siiz E [Option ID = 12251]
4. A, Band E only/a@aet A, B siz E [Option ID = 12252]

Correct Answer :-
e A, Band Conly/@ac A, B 3iiz C [Option ID = 12249]

46) In which layer of the atmosphere is ozone found?

arggise &l b1 uzd 3 siisiler urs siedl 3 ?

[Question ID = 10564][Question Description = S2_qSNz_PG_PPS_Q46]
Thermosphere/epifshriz [Option ID = 12253]

Stratosphere/3¢cR6RR [Option ID = 12254]

Troposphere/guz®rr [Option ID = 12255]

Mesosphere/#izGRiz [Option ID = 12256]

A W N -

Correct Answer :-
® Thermosphere/emitsbRiz [Option ID = 12253]

47) Which of the following estimates in NFHS-V are available at the State/UT level, only?
A. Domestic violence

B. Sexual behaviour

C. Knowledge, attitude and behaviour regarding HIV/AIDS

D. Random Blood Sugar Level



Choose the correct answer from the options given below:

Gol U wa A - V 3 forgeiferRad 31 ool -AT 3ioidATel ddddl AU / A IS FAR UR IJucied] 3 ?
A. @ B

B. il caasrR

C. vasEdl / v @ Jder 3 siol, efemlvr 3z ®IasR

D. arRe® 3 oqdsy IR .

ofi o s1u fweal & A A8 IR BT wRI6T BT :

[Question ID = 10565][Question Description = S2_qSNz_PG_PPS_Q47]

. Aand B only/@aet A siiz B [Option ID = 12257]
. B and C only/dsaer B siiz C [Option ID = 12258]
. A, Band D only/dqet A, B siiz D [Option ID = 12259]
. A, Band Conly/aae A, B siiz C [Option ID = 12260]

A W N -

Correct Answer :-
e Aand B only/dact A siiz B [Option ID = 12257]

48) Which of the following are true about (Ro) Basic Reproduction Number:

A. It is used to determine infectious disease transmission dynamics

B. It is an estimate of contagiousness of disease

C. It is a measure of severity of infectious disease

D. It is often considered when designing and implementing a vaccination strategy

Choose the correct answer from the options given below:

forgot 3 A BlaT -AT MMEMRY YsTololel T (Ro) & arR 3 e 3 ?

A. 39T GRIST d D A8T D AGIHUT 6 SrcArcHDd D forerfzor @ fere drar 3

B. e ol dierrsl bl FAqpuermar o siolret 3

C. fop2ft FiqppIe At &I digar o1 aa

D. yr: saropt farR ao s siar 3 st dpra2ut Wil ot sy, fasen st a1 aiar @
il feu sru farasedl 3 A A8 IR D1 TRIel B :

[Question ID = 10566][Question Description = S2_qSNz_PG_PPS_Q48]

1. Aonly/dact A [Option ID = 12261]

2. Aand B only/a@aet A sii B [Option ID = 12262]

3. A, Band C only/daer A, B iz C [Option ID = 12263]
4. A, B and D only/daet A, B siiz D [Option ID = 12264]

Correct Answer :-
® Aonly/a@act A [Option ID = 12261]

49) Which of the following population conference first recognized 'Population and development' interface?

forgatferRaa Storizen edcIol # 'SToRIFRT 3i1R PRI idRIYts Bl AdYLH AT & 3157

[Question ID = 10567][Question Description = S2_qSNz_PG_PPS_Q49]
1. Bucharest Conference/garzc J#diciel [Option ID = 12265]

2. Mexico Conference/afeiat Jedictor [Option ID = 12266]

3. Cairo Conference/®rRI Jwdtctor [Option ID = 12267]

4. Beijing Conference/difSisr 3@dictar [Option ID = 12268]

Correct Answer :-
e Bucharest Conference/garze 2wt [Option ID = 12265]

50) As per India HIV Estimates 2019 report, the estimated number of people living with HIV (PLHIV) is around:

R Ud 311$ dl Yraderol 2019 Ralé & srepar wa 3 & A sfR[ Siifaa caftpeal (Ut ver va sn dt) &bt comer e 3 :

[Question ID = 10568][Question Description = S2_qSNz_PG_PPS_Q50]
23.40 Lakh/23.40 et [Option ID = 12269]
23.45 Lakh/23.45 @ara [Option ID = 12270]
23.47 Lakh/23.47 @ra [Option ID = 12271]
23.49 Lakh/23.49 ara [Option ID = 12272]

A W N -



Correct Answer :-
® 23.40 Lakh/23.40 cmra [Option ID = 12269]

51) Which of the following combination is true about 'Urban Primary Health Center’ under the National Health Mission
(NHM)?

A. Functional for a population of 50,000 to 60,000

B. Maybe located near a slum

C. Will have one Mobile Medical Van

D. Staffed by 2 doctors, 3 staff nurses, 1 pharmacist, 1 lab technician, etc.

Choose the correct answer from the options given below:

IASERT TARE 139161 @ 3icield ' 9163l YreIfdis FaRe dg @ dIR 3 fordol 3 A Dlol - AT JoA 3 & ?
A. 50,000 3 60,000 aw &t StorRize @ fore yoriicas

B. goolt silust auclt & frae 2t arasar

C. v dHarsa Afsaoe Ao Bl 3

D. ¥erw 3 2 Sfaez, 3 Ferw R, 1 wEilre ik 1 dq eacfifdrmE den

il fou s1u frpeul 3 A I 3R BT a6l HIfSIE ©

[Question ID = 10569][Question Description = S2_qSNz_PG_PPS_Q51]

A and B only/@act A 3iiz B [Option ID = 12273]

A, B and C only/@aet A, B iz C [Option ID = 12274]
A, B and D only/@aet A, B aiiz D [Option ID = 12275]
A, B, Cand D/A, B, C siiz D [Option ID = 12276]

A W N -

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 12273]

52) Which of the following represents the factors affecting exposure to conception as suggested by Davis and Blake's
Intermediate Variables Framework?

A. Fecundity/infecundity as influenced by involuntary causes
B. Use or nonuse of contraception

C. Coital frequency

D. Fecundity/infecundity as affected by voluntary causes

E. Permanent celibacy

Choose the correct answer from the options given below:

fotgot 3t 3 Dol -AT o1 PR®I D Yfel fotferea wear 3 il smifemun &6 Fsiraen oI genfdd @wa 8 Siifes 3faRT 3iiz ool & ALAacdl Rl &1 BaTD
garfad oar 3 ?

A. 3pifRe® DRIl A Yenfdd gsielerolicrdr / sigsiolergfierar

B. snsiforieres b1 GRINeT AT 3TRIST

C. zsier Bt angfi

D. dfRew wruil A gsnfaa ysiererefierar / srysterereficrar

E. zerh goreri

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 10570][Question Description = S2_qSNz_PG_PPS_Q52]

A, B and C only/@aa A, B siiz C [Option ID = 12277]
A, B and E only/a@act A, B siiz E [Option ID = 12278]
A, B and D only/@aet A, B aiiz D [Option ID = 12279]
A, B, C and D only/daet A, B, C 3iiz D [Option ID = 12280]

AN wnN -

Correct Answer :-
e A, Band Conly/aac A, B iz C [Option ID = 12277]

53) Match List | with List Il

List | List Il
A. Output indicator I. Accomplishment of targetted objectives
B. Process indicator Il. Mid-term effect of programme activities




C. Outcome indicator lll. Manner of carrying out various activities
D. Impact indicator IV. Ultimate result of the programme activities
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera HifSre :

oret -1 Rreht -1l

A. 3m3cye Addad ||, forerfea cigl @ ygr wen

B. gfépzmn diddawm ||l origa sifcfaf2ril @1 aeamifers gema

C. ufyomar Fiddaes |ll. fafdeor yor @ orieal o eriffoad ot &t Sfer
D. smra idas ||V, oriagr sifefafir or siferer afsvmer

ofid fou o1 fawedl & A wd Iar gfore ¢

[Question ID = 10571][Question Description = S2_qSNz_PG_PPS_Q53]

-1, B-1,C-1l,D- IV [Option ID = 12281]
<1, B -1, C-1l,D- IV [Option ID = 12282]
-1,B -1, C-1ll, D - IV [Option ID = 12283]
-1, B-1I, C- 1V, D - lll [Option ID = 12284]

HwN e
> > > >

Correct Answer :-
e A-Ill,B-1,C-1l,D-IV[Option ID = 12281]

54) Given below are two statements
Statement I: The Receiving Operation Characteristics (ROC) curve is obtained by plotting sensitivity vs (1-specificity)
Statement II: The Receiving Operating Characteristic (ROC) curve is obtained by plotting sensitivity vs specificity

In light of the above statements, choose the correct answer from the options given below

off< <1 werer Ry a1 3 :

Dol - | : 3PNl yarcrer fadraarsit @t gra fosen sirar 3 Fidcsreficrar goman (1 - fafdrscar) ol wiic
@erol - | : sfepdl yarcor fadradar (ROC) @ yra s sirdr 3 Fdgeteficidr ot fafdrsedr &1 twiic wd>
SWRIFP Dol D 3Mrelld d, ofld 3w 31w frpedl 3 A AR IuYTh IR DI TRIol HIPIT ©

[Question ID = 10572][Question Description = S2_qSNz_PG_PPS_Q54]

1. Both Statement | and Statement Il are true/emwr | aiiz Il Steil s & [Option ID = 12285]

2. Both Statement | and Statement Il are false/@ermer | 3iiz || Staif sricer & [Option ID = 12286]

3. Statement | is true but Statement Il is false/@ewr | 3= @ , cifepet @eret || sRIr & [Option ID = 12287]
4. Statement | is false but Statement Il is true/@emer | 3Rica 8 , clfdpet weret || A= 8 [Option ID = 12288]

Correct Answer :-
e Both Statement | and Statement |l are true/@memr | 3i 11 Gleil 31 & [Option ID = 12285]

55) Which one of the following is referred to as the index of generational replacement?

forgaiferRaa 3 2 sl Uidiera yferenaet o1 e dal Sl & ?

[Question ID = 10573][Question Description = S2_qSNz_PG_PPS_Q55]
1. Total Fertility Rate/3wms] ysieeidr a2 [Option ID = 12289]

2. Gross Reproduction Ratio/3wet ystotoren sigjurd [Option ID = 12290]

3. Net Reproduction Ratio/foraet gsteterar srgure [Option ID = 12291]

4. Mean length of generation/digt <t amrear cfars [Option ID = 12292]

Correct Answer :-

e Total Fertility Rate/wm] ystererar g2 [Option ID = 12289]

56) Which among the following expresses the migration effectiveness of a place A (Origin) with in-migration X and out-
migration Y when out-migration is towards place B (destination)?

foratferRaa 3 A ®lel - AT 3foa: Yasial X Afda Farret A (1) b yasiol YHIamIR¥dT 1R d1@T gasiel Y &l Rawp il & dIa - Ydsiol 2Tl B
(sifSter) i sz 3 ?

[Question ID = 10574][Question Description = S2_qSNz_PG_PPS_Q56]
1. X-Y/X+Y

[Option ID = 12293]
2. Y-X/X+Y

[Option ID = 12294]



3. X-Y/X

[Option ID = 12295]
4. X+Y/Y-X

[Option ID = 12296]

Correct Answer :-
o X-Y/X+Y

[Option ID = 12293]
57) Which gas is found in maximum in the air?
gar & @lot - I 3t waAd siffrp urs Skl 3 ?

[Question ID = 10575][Question Description = S2_qSNz_PG_PPS_Q57]
1. Oxygen/sma=fisier [Option ID = 12297]

2. Carbon dioxide/owsrsE snaRuss [Option ID = 12298]

3. Hydrogen/srissier [Option ID = 12299]

4. Nitrogen/amrscsier [Option ID = 12300]

Correct Answer :-
e Oxygen/smeRitser [Option ID = 12297]

58) In how many years population increases in geometrical progression, according to the Malthusian theory of population?

TR D SoRiF Rigia @ iR fbdel aul 3 Slerizen i sfdrdl gorae 3 gfig arcft 3 ?

[Question ID = 10576][Question Description = S2_qSNz_PG_PPS_Q58]
1. 20 years/20 ad [Option ID = 12301]
2. 25 years/25 ad [Option ID = 12302]
3. 30 years/30 axf [Option ID = 12303]
4. 35 years/35 ad [Option ID = 12304]

Correct Answer :-
® 20 years/20 ad [Option ID = 12301]

59) India's rank in terms of Human Development Index (HDI) in 2020, as per United Nation's Human Development Report
(2020) was:

gD g, Jrord fpr Ul (2020) & 316RIR Hiold fIeRI Jamie (va 3t 3g) & s 3 HRd ! Feure 3 ¢

[Question ID = 10577][Question Description = S2_qSNz_PG_PPS_Q59]
1. 129

[Option ID = 12305]
2. 130

[Option ID = 12306]
3. 131

[Option ID = 12307]
4. 133

[Option ID = 12308]

Correct Answer :-
e 129

[Option ID = 12305]

60) Which among the following is used to show income inequality?

forgotferRaa 3 3 oot YRIeT 3T 3 3RIdToIaT Y goriol & fere fapam Simar & ?

[Question ID = 10578][Question Description = S2_qSNz_PG_PPS_Q60]
1. Line graph/emsat e [Option ID = 12309]

2. Pie diagram/ui srepw [Option ID = 12310]

3. Bar graph/ar sqw [Option ID = 12311]

4. Lorenz curve/e¥st @wd [Option ID = 12312]

Correct Answer :-
® Line graph/amset siw [Option ID = 12309]

61) What does 'Hino euma’ refer to:



'fecirerg’ o1 o aref 3 :

[Question ID = 10579][Question Description = S2_qSNz_PG_PPS_Q61]

Chinese superstitious year during which people discourage childbirth/fisft sierfdearft ad SRt Giarer cliel dret Slod @I adlcAfaa o1 8 [Option ID = 12313]
Japanese superstitious year during which fertility drops dramatically/lsft sterfeearsft atf 5wt Giarer ystototanr 9t siredbler 3u 3 @it st 8 [Option ID = 12314]
Korean superstitious year during which people postpone marriage/®if¥ns sicrfaearit f5rt Girel el fdars @1 Fafdia w2 aa & [Option ID = 12315]

Vietnamese superstitious year during which marriage/chidbirth is discouraged/fdrromeft sierfrartt ad SRt Sivrel fdars / dret Soat @l adlcnfad s sirar 3
[Option ID = 12316]

A WN =

Correct Answer :-

e Chinese superstitious year during which people discourage childbirth /<ol sierferartt ad fSr1 Slerel €l drel Sioet @I adlnda wd & [Option ID = 12313]
62) What is the relationship between Net Reproduction Rate (NRR) and Gross Reproduction Rate (GRR)?

‘fordaet Yaiolol' g2 (Tol 3112 3IIR) 3T Ibd Ylolol g2 (Sft 3R 3MR) & dffa a=m dAder 3 ?

[Question ID = 10580][Question Description = S2_qSNz_PG_PPS_Q62]

1. GRR is divided by the survival rates of females/3wet ysioter &2 @t aifdemsit 6t sashfdar o grr emmer f&ar suar & [Option ID = 12317]

2. GRR is multiplied by the survival rates of females/wet Ystotel G2 @I aifdetil b1 ITSHAAr o2l grr spun fopen fopen srar & [Option ID = 12318]
3. NRR is divided by the survival rates of females/foract ysiotor &2 @l aifdemsii bt Iashidar grr sl &= smar & [Option ID = 12319]

4. GRR is equal to NRR/3@et ysiotel 62 fordet Ystolol 62 @ w6l & [Option ID = 12320]

Correct Answer :-
e GRR is divided by the survival rates of females/3acl Ysiotol g2 1 afacail Bt sasiifdar a3t grr 1ol f&en sear & [Option ID = 12317]

63) Match List | with List Il

List | List Il

IA. Theory of a stable population I. Davis and Black
B. Singulate mean age of marriage |[ll. William Brass
C. Intermediate variable frameworklll. Lotka

D. P/F ratio IV. Hajnal
Choose the correct answer from the options given below:

et -1 B e -1l A g i

Rt -1 Rt -l

A. f¥er Sterzize @1 Rigia |. 3feRT Us st
B. fardrs &bl waver #1e 3R Il. fafermr g1
C. arezradl az aian Ill. elicast

D. di/ uw sopura IV. 3stotct

ofid fu sru fpeal 3 A Al IR gfem :
[Question ID = 10581][Question Description = S2_qSNz_PG_PPS_Q63]

A-1I,B-1v,C-1,D-1l [Option ID = 12321]
A-11,B-1ll,C-1V, D -1 [Option ID = 12322]
A-1,B-1l,C-1l, D -1V [Option ID = 12323]
A-1V,B-1,C-1l,D-Ill [Option ID = 12324]

A W N -

Correct Answer :-
e A-IlIl,B-IV,C-1,D- Il [Option ID = 12321]

64) Arrange the following EAG states in descending order (High to Low) of infant mortality rate for the year 2018,
according to SRS Bulletin, May 2020:

A. Bihar

B. Jharkhand

C. Chhattisgarh

D. Madhya Pradesh
E. Uttar Pradesh

Choose the correct answer from the options given below
A 3R A geifcol w5 2020 @ 3r6RAR foweiiciiRad 5 € sil sl ol ad 2018 o ferw 1919] #eg 52 @ RIS A (SUR A oikl) 3 saaiea Hifse

A. foBr

B. sirEs
C. sdiaee
D. sreaggor



E. Sarygor
offd fu s1u farapeul 3 A Tt IR DI R DIfeIT
[Question ID = 10582][Question Description = S2_qSNz_PG_PPS_Q64]

D, E [Option ID = 12325]
D, A [Option ID = 12326]

, A, B, E [Option ID = 12327]
C, A, B [Option ID = 12328]

HwnN =
o0 W >
m o 0O @

Correct Answer :-
e A, B, C, D, E[Option ID = 12325]

65) Match List | with List Il

List | List 11

A. Social Capillarity I. Karl Winkelblech
B. Optimum population theory Il. Thomas Doubleday
C. The Diet Principle lll. F.W. Notestein

D. Theory of demographic transition IV. Arsene Dumont

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera Hifsre :

oxet -1 Rxeh -1l

A. ST Dfdrbea |. et fdd>ersctia

B. sscdan sioRizen Rigia Il. emaraT sacrs

C. 1§ s13¢ Rigia Ill. uw. sec3y siefRcror
D. StoraifRcrdbrr Amifer @1 Rrgia IV. srfar gaic

il fou s1e frseul 3 ¥ A IR o ©
[Question ID = 10583][Question Description = S2_qSNz_PG_PPS_Q65]

A-1,B-1l, C-1l,D- IV [Option ID = 12329]
A-1V,B-1ll, C-1l, D - [Option ID = 12330]
A-1,B-1Il,C-1II,D- IV [Option ID = 12331]
A-1V,B-1,C-1I,D- lll [Option ID = 12332]

A W N -

Correct Answer :-
® A-I,B-Il,C-Ill,D-IV[Option ID = 12329]

66) Arrange the following settlements according to their size (from smallest to largest)
A. Village

B. Hamlet

C. Town

D. Megalopolis

E. Metropolis

Choose the correct answer from the options given below

forgatfeiRaa wrazemusl @1 IoId PR D IGRIR (TN A Joad) Aaf¥ed HIfsm :
A. st

B. s=<it

C. a2

D. g&d #sorR

E. #soPR

sifa fou s1e frpeul 9 A A IR DI w6l HIfSIE ¢

[Question ID = 10584][Question Description = S2_qSNz_PG_PPS_Q66]

D, E [Option ID = 12333]
, E, D [Option ID = 12334]
B, A [Option ID = 12335]
E, D [Option ID = 12336]

A w N =

Correct Answer :-
e A, B, C, D, E[Option ID = 12333]

67) Match List | with List Il



List |

List Il

A. Gary Becker

|. Economic theory of fertility

B. Kingsley Davis

Il. Social capillarity

C. Harvey Leibenstein

Ill. Theory of change and response

D. Arsene Dumont

IV. Quality-quantity trade-off

Choose the correct answer from the options given below:

Il -1 ot gt -1 2 difera difsr ¢

oxet -1 et -1l

A. 313 B2 I. gefire @1 snféfes Rigia

B. fepsater SforRt Il. Arorer DUt

C. ard asfaf¥caer 1. afsadar siiz smifpan @1 Rigia
D. srial sygiic IV. spurerer uf¥vier @I el - Sof

il fou s1e frseul 3 ¥ A8 IR o ©
[Question ID = 10585][Question Description = S2_qSNz_PG_PPS_Q67]

A-1V,B-1lIl,C-1,D - Il [Option ID = 12337]
A-1ll,B-1,C-1l,D- IV [Option ID = 12338]
A-11,B-1,C-1V, D - Il [Option ID = 12339]
A-1,B-1V,C-1ll, D - Il [Option ID = 12340]

A W N -

Correct Answer :-
e A-IV,B-1ll,C-1,D-Il[Option ID = 12337]

68) Arrange the following states in descending order (high to low) with respect to the share of ST population, according to
the 2011 census?

A. Tamil Nadu
B. Uttar Pradesh
C. Mizoram

D. Nagaland

E. Meghalaya

Choose the correct answer from the options given below

2011 @ SIePIVIe @ 3IGIAR oI SIotSIif MEISt @ 333 @ dder A fororferRaa sl @1 sraRIdl (FUR A i) wa 3 w=raf¥era Hifse :
A. aif¥retorrg

B. 3R ygor

C. frsiea

D. aiemels

E. drEmerr

ofid fou s1u faseal & A A8 IR BT wRI6T HIRIT :

[Question ID = 10586][Question Description = S2_qSNz_PG_PPS_Q68]

1. D, C, A, E, B [Option ID = 12341]
2. D, C, E, A, B [Option ID = 12342]
3. C, D, E, A, B[Option ID = 12343]
4. C, D, E, B, A[Option ID = 12344]

Correct Answer :-
e D, C, A, E, B[Option ID = 12341]

69) Match List | with List

List |

List Il

A. Mosley Chen Analytical Framework

I. Age pattern for fertility

B. Coale-Trussell's model

Il. Fertility level

C. Bongaart's proximate determinants

Ill. Child survival

D. Gompertz Makeham curve

IV. Age-specific mortality rate

Choose the correct answer from the options given below:

it -l oot 3 -1l A Fgafera HifSie :

foxeht -1

et -1




A. dIrc dol frauvncad aiar |. Ystelorar I 31y Ucof
B. @lcl RIcA dfsal Il. gstotolel R
C. dfet - snced yra=ildie f3efifoicat . srer Sasiifaa
D. sjiarurcst dmare aod IV. sy fafdree geg o2

ofla fou o1 frpeul 3 3 A I gforw ¢
[Question ID = 10587][Question Description = S2_qSNz_PG_PPS_Q69]

A-1ll,B-1,C-1l,D- IV [Option ID = 12345]
A-1,B-1I,C-1ll, D - IV [Option ID = 12346]
A-1V,B-1,C-1l,D - Il [Option ID = 12347]
A-11,B-1ll,C-1,D- IV [Option ID = 12348]

A W N -

Correct Answer :-
e A-IlIl,B-1,C-Il,D-IV[Option ID = 12345]

70) Match List | with List Il

List | List Il

A. Dispersion I. Analysis of variance
B. Change in the outcome variables Il. Regression analysis
C. Association in variables lll. Standard deviation
D. Measure in relationship IV. Chi-square test

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

e - e -1

A. gdblufor |. @RI o1 frecsyor

B. ufyurmsfl @i of uf¥acer Il. uteEIor faeayuor

C. =RI 3 J=AIe1 I1l. aro1as ferarctor

D. Jiser & ufsormer IV. & - TaarR udigor

il fou s1e frpeul 3 3 A8 IR gforw ©
[Question ID = 10588][Question Description = S2_qSNz_PG_PPS_Q70]

A-1I1,B-11,C-1V, D - | [Option ID = 12349]
A-1V,B-1ll, C-1l, D - [Option ID = 12350]
A-1,B-1l, C-1l,D- IV [Option ID = 12351]
A-11,B-1,C-1V, D - lll [Option ID = 12352]

A W N -

Correct Answer :-
e A-IIl,B-1Il,C-1V,D-I[Option ID = 12349]

71) Arrange the following Acts according to the time of first enactment (earliest to the most recent)
A. Domestic Violence Act

B. Child Marriage Act

C. Child Labour Prohibition Act

D. Medical Termination of Pregnancy Act

E. Epidemic Diseases Act

Choose the correct answer from the options given below

forgatferRaa siferforment @Y gemnn siftiformrer (gdas A oIdiclasr) ® BIARAHGRIR Rafyerd bifse :
A. @y B aiférforpret

B. aret fars sifrforrar

C. arcr o yferRier siferformar

D. ot @1 Rifepezii Jramue sif2iforme

E. sl sifeformer

il feu s1u faeedl 3 A A8 IR @1 TRIel B :

[Question ID = 10589][Question Description = S2_qSNz_PG_PPS_Q71]

E, D, A, B, C [Option ID = 12353]
E, D, B, A, C [Option ID = 12354]
E, D, B, C, A [Option ID = 12355]
E, B, D, C, A [Option ID = 12356]

» Ay

s

A wWN =

» Y



Correct Answer :-
e E, D, A B, C[Option ID = 12353]

72) Three mathematical methods are used to compute the intercensal population growth rate as given below. Which one of
the following expressions represents the correct relationship among computed growth rates?

3fod: SIoIeIVIell 3rdf?l 3 STolRizel Uf¥ddiol bl SIUT6lT D6l @ feru iol IvIdRI Ul oI IURIIeT D6l AFa & I ol fAf2RIT 3 :
(i) sicarfdrctier gfy g2

(ii) sefircfies gfy o2 aiz

(i) aaie® gty o=

ol diall faf2rRIl g1 ulRefera afy ol & dia dAde ol foraiferRaa 3 21 fpdl Sl A gorfn srm 3 ?

[Question ID = 10590][Question Description = S2_qSNz_PG_PPS_Q72]

1. Arithmetic growth rate > Geometric growth > Exponential growth rate/siweifordlr afis g2 > Safidies gfg g2 > adie gfg g2 [Option ID = 12357]
2. Exponential growth rate > Geometric growth > Arithmetic growth rate/adi® gfig g2 > Sfdiferd gfg &2 > siwerftrdlr g g2 [Option ID = 12358]
3. Geometric growth > Arithmetic growth rate > Exponential growth rate/snféfeid gfig g2 > siweiftrdr gfig &2 > adia gfg o2 [Option ID = 12359]
4. All the three growth rates will be equal/3wf el gfg &2 v w6t & [Option ID = 12360]

Correct Answer :-
e Arithmetic growth rate > Geometric growth > Exponential growth rate/siwsifordtr gfig g2 > Snfirdle gfis o2 > @aie gfg g2 [Option ID = 12357]

73) Who among the following are associated with the study of migration?
A. Everette Lee

B. Arsen Dumont

C. Ronald Lee

D. Michael P.Todaro

E. Samuel A.Stouffer

Choose the correct answer from the options given below:

forgat 31 31 P Yariol D 31e=RIel A Adg v strer 3 ?

A. wade it

B. amfor gt

C. 2Joics cft

D. srsd>a di. diery

E. g v Fiw2

il fou s1u frapeul 3 A W IR BT a6l HIfSIE ©

[Question ID = 10591][Question Description = S2_qSNz_PG_PPS_Q73]

. A, Band C only/dact A, B siiz C [Option ID = 12361]
. A, B and D only/daer A, B 3iiz D [Option ID = 12362]
. A, Dand E only/dact A, D siiz E [Option ID = 12363]
. A, Cand D only/aaet A, C siiz D [Option ID = 12364]

A W N -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 12361]

74) Imbalanced sex ratio at birth in India can be attributed to:
A. Sex differences in vaccinations

B. Sex difference in malnutrition

C. Sex differences in health care utilization

D. Sex-selective abortion

Choose the correct answer from the options given below:

HRA I Slod D AIA IRAgferd [eie1 sfoIurd oI ®RuI 3 :
A. &oravur 4 feior Jdell siar
B. qgulyur 3 fefer Adielt siar



C. Farrea Aarsil & IPuRIlse 3 foior delt siae

D. feier @rret smenfea spiara

il fou s1u fraseul 3 3 A IR BT w6l HIfSIE ©

[Question ID = 10592][Question Description = S2_qSNz_PG_PPS_Q74]

. B, Cand D only/dact B, C siiz D [Option ID = 12365]
. Cand D only/aaet C sfiz D [Option ID = 12366]

. A, B, Cand D/A, B, C aiiz D [Option ID = 12367]

. A, Cand D only/dact A, C aliz D [Option ID = 12368]

A W N -

Correct Answer :-
e B, Cand D only/aaer B, C siiz D [Option ID = 12365]

75) Who has first used the word ‘Demography'?

"SHPbY" 916G BT YRIleT AdyeEt fesaer fopem & ?

[Question ID = 10593][Question Description = S2_qSNz_PG_PPS_Q75]
1. Achille Guillard/ufrer sgferis [Option ID = 12369]

2. Kingley Davis/fderet 3fa=t [Option ID = 12370]

3. P.W. Frank/dt. sse3p B a5 [Option ID = 12371]

4. Marx Stopes/arRi ez [Option ID = 12372]

Correct Answer :-
e Achille Guillard/efret sgferrs [Option ID = 12369]

76) Which of the following indicators can indicate gender equality in a population?
A. Total fertility rate

B. Sex ratio at birth

C. Male-Female under-five mortality rate

D. Marital fertility rate

E. Out migration rate

Choose the correct answer from the options given below:

foraot 3 3 Blol AT IADAD Pl oIz H SIS AATGIAT Bl 3R DA B2 ADdl & ?
A. @t Ystololdn g3

B. Stest @ 1 feisT srofured

C. ¥di y»u ufa ad A oa i d P 52

D. daifédw ysiotorar ¢

E. @ gara

oikY feu a1u faedl 3 A A IR @1 WRIe B :

[Question ID = 10594][Question Description = S2_qSNz_PG_PPS_Q76]

1. A and B only/dact A siiz B [Option ID = 12373]
2. B and C only/daet B siiz C [Option ID = 12374]
3. Cand D only/a@aer C siiz D [Option ID = 12375]
4. D and E only/aae D siiz E [Option ID = 12376]

Correct Answer :-
e A and B only/dbaer A 3iiz B [Option ID = 12373]

77) Vector file formats are often used for the following cases:
A. When costs need to be kept down

B. Highly precision application

C. When file size is important

D. When descriptive information must be stored

E. Satellite images

Choose the correct answer from the options given below:

dacs WIscl BRI BT YRIPT YRI: fordol simercl o fore gges aia &



A. S/ PIT T ol Bl 3

B. 3ca afisan aretr vtefiadorot

C. S| wIsd AsS Aswayyl didar 3

D. St aquiciicaas JFIsll B 3Ia9 IR Bl BXdl 3

E. 3usg A oft o axdi?

ofid o s1u fwseal & A A8 IR BT wRI6l HIRIT :

[Question ID = 10595][Question Description = S2_qSNz_PG_PPS_Q77]

. A, B, Cand D only/a@aet A, B, C siiz D [Option ID = 12377]
. B, Cand D only/@ae B, C siiz D [Option ID = 12378]

. B, C, Dand E only/aqa B, C, D siiz E [Option ID = 12379]
. A, B,C,DandE/A, B, C, D siiz E [Option ID = 12380]

A W N -

Correct Answer :-
e A B, CandD only/adaet A, B, C 3iiz D [Option ID = 12377]

78) Which one of the following inter-state migration streams predominates among females according to Census of India
20117

ad 2011 b1 sra & SiePI6 @ IR foarfciRaa 3 3 wlar -2 yaster - Ry Afdensii d aga sifers 3 ?

[Question ID = 10596][Question Description = S2_qSNz_PG_PPS_Q78]
1. Rural to Rural/sysfiur 3 syefior [Option ID = 12381]

2. Rural to Urban/syefiur 3 983t [Option ID = 12382]

3. Urban to Rural/ems$ 31 sefior [Option ID = 12383]

4. Urban to Urban/es$ 3 9is$t [Option ID = 12384]

Correct Answer :-
e Rural to Rural/sysfiur 31 spefior [Option ID = 12381]

79) Basic elements of graphical data include
A. Polygon

B. Line

C. Point

D. Area

Choose the correct answer from the options given below:

aqiflser STeT & et oreal 3 onfdrer 3

A. Szt
B. Yzr

C. fig

D. &g

il feu aru fareedl 3 A A8 IR D1 TRIel B :

[Question ID = 10597][Question Description = S2_qSNz_PG_PPS_Q79]

1. B, C and D only/d@aet B, C siiz D [Option ID = 12385]
2. Band C only/dsaet B siiz C [Option ID = 12386]

3. A, Band C only/d@act A. B siiz C [Option ID = 12387]
4. A, B, Cand D/A, B, C aiiz D [Option ID = 12388]

Correct Answer :-
e B, C and D only/aae B, C siiz D [Option ID = 12385]

80) In which of the following places, the novel coronavirus was identified?

forgatfeiRad fopar Ferol Uz oildcl BRIoll dRIFA bl Usdlel &I o1 ofi?

[Question ID = 10598][Question Description = S2_qSNz_PG_PPS_Q80]
1. Beijing/difiar [Option ID = 12389]

2. Shanghai/gfrs [Option ID = 12390]

3. Wuhan, Hubei/gga, g8 [Option ID = 12391]

4. Tianjin/ewsdfeme [Option ID = 12392]

Correct Answer :-



e Beijing/difSior [Option ID = 12389]

81) IN NFHS-V, which of the following survey tools are used for data collection?
A. Household schedule

B. Woman's schedule

C. Man’s schedule

D. Bio-markers

E. Visitor's schedule

Choose the correct answer from the options given below:

NFHS - V 3 srer - i9s 3q lol -3 Ad 8101 YUy I YRIIBT 3idI 3 ?

A. Tz @1 guqg

B. #ifdem @1 gue

C. gay @1 guq

D. 3ia - Rz guq

E. ardft o1 gug

ofid o s1u faseal & A A8 IR BT wRI6l BT :

[Question ID = 10599][Question Description = S2_qSNz_PG_PPS_Q81]

A and E only/daet A siiz E [Option ID = 12393]

A, B and C only/a@aa A, B siiz C [Option ID = 12394]

A, B, C and D only/dact A, B, C 3iiz D [Option ID = 12395]
A, B, C, Dand E/A, B, C, D aiiz E [Option ID = 12396]

A W N -

Correct Answer :-
e Aand E only/@aet A siik E [Option ID = 12393]

82) Which of the following statements related to stable population is correct:

A. A stable population could grow or decline at a constant rate

B. Percentage of people at each age and sex do not change over time

C. A stable population could remain unchanged i.e. zero growth rate

D. All stationary populations are stable but not all stable populations are stationary

Choose the correct answer from the options given below:

e SoRizen A g fowafeRRaa sifdraeret 3 A Bl -1 W6 8 ?

A. v e sorizn v o1 <2 ur 96 Aw@dl 3 a1 Br ol 3

B. g 3R] ud fefer & elisil ol Yfe19rd PRI & AT G6eldl ol &

C. v f¥er Sorize sufrafefa & Fwd 3 srerfa o iy o2 81 JAwar 3

D. 34 - siftrrg SlorRrizen e 2l 3 cifdbol 1 e SoRize sifersg; ofdl aldl 3
ofid o s1u fweal # A A8 IR BT <RIl HIRIT :

[Question ID = 10600][Question Description = S2_qSNz_PG_PPS_Q82]

1. Aand D only/aact A siiz D [Option ID = 12397]

2. A, B, CandD/A, B, C siiz D [Option ID = 12398]

3. B, C and D only/dae B, C iz D [Option ID = 12399]
4. A, B and C only/dsaet A, B siiz C [Option ID = 12400]

Correct Answer :-
e Aand D only/aqet A siiz D [Option ID = 12397]

83) Which one of the following formulae gives doubling time (+) of a given population?

forearferRaa & A v g A =1l yoa SeRiz=n @ gaJoll dlol 3 cPn e (t) gra siar 3 ?
[Question ID = 10601][Question Description = S2_qSNz_PG_PPS_Q83]
1. f= _{Iogz} /t ﬂOQE}

v =e—

[Option ID = 12401]
(12 TN



2. g 8L, 108,
t 5 /sz‘

[Option ID = 12402]
log? 2
3. f=@f " (lOQe,I
2r =

[Option ID = 12403]
2
4. f= _{|0Q }#ffz ﬂng}
2r 2r

[Option ID = 12404]

Correct Answer :-

o 1= {009 _ (og?)

r F

[Option ID = 12401]

84) While about 70% of the earth is covered by water, what proportion (in per cent) of water is suitable for human use?
It gedt ol el 70 gierord sieT Sicl A eolicd 8 fdbdoll Yferord Sicl Aol SURIPI @ fere Uy 8 ?

[Question ID = 10602][Question Description = S2_qSNz_PG_PPS_Q84]
1. 5%

[Option ID = 12405]
2. 1%

[Option ID = 12406]
3. 3%

[Option ID = 12407]
4. 4%

[Option ID = 12408]

Correct Answer :-
e 5%
[Option ID = 12405]

85) Which one of the following diseases is a disease of the Circulatory System?

forgotferRaa 3 A ot AT AT Ul YuIrctt o1 v et 37

[Question ID = 10603][Question Description = S2_qSNz_PG_PPS_Q85]
1. Cerebrovascular diseases/gaf3aws iassit A1 [Option ID = 12409]

2. Chronic lower respiratory disease/sfivf stet «azfor ast 21 [Option ID = 12410]

3. Diseases of Liver/=ax 31 [Option ID = 12411]

4. Influenza/sucst [Option ID = 12412]

Correct Answer :-

e Cerebrovascular diseases/ggf¥ass dasoft et [Option ID = 12409]

86) According to the 2020 SRS Bulletin of India, which one of the following States/UTs has recorded the lowest Crude Birth
Rate (per 1000 population)?

R @ 2020 ©H 3R TA Aol @ AN forotferlRad i A v s/ i &xq 3 319Nf2rd Stodt g2 (gfer 1000 Srorizs) forForeat gof bl o1 3 ?

[Question ID = 10604][Question Description = S2_qSNz_PG_PPS_Q86]
1. Bihar/fdsre [Option ID = 12413]

2. Uttar Pradesh/3a= ygor [Option ID = 12414]

3. Andaman and Nicobar Islands/sisater siiR forplar giu e [Option ID = 12415]

4. Puducherry/ggast [Option ID = 12416]

Correct Answer :-

e Bihar/Rer [Option ID = 12413]

87) In order to get a population estimate of the District for a particular year in the intercensal period, which one of the
following would be the most preferred method?

fop=it ad fadiy 3 s1Rd &l SIS BT 3MIa5cIol 3iod: SIoISIVIGH 3af?l d mIol & YRilsrene! forgstfeiRaa 3 2 o= waiferes sifeene ugfa 3 ?



[Question ID = 10605][Question Description = S2_qSNz_PG_PPS_Q87]

1. Estimate the arithmetic rate of population growth for the intercensal period and use it to project population/sied: SieisIvel 3iafel @ fere SR gig ot
3ipaIfOIRI G2 I 3lIbetol B2 A gl G2 Pl 3 ay bl SoRReN adr goit [Option ID = 12417]

2. Estimate the geometric rate of population growth for the intercensal period and use it to project population for the year/siea: Sio1viel sm@fel @ fere
SRR Jfg D SR 62 @ 3irdetol @2 A i 62 @I 3A adf &I SR adr dom [Option ID = 12418]

3. Estimate the exponential rate of population growth for the intercensal period and use it to project population for the year/siod: Soemwren smafé @ fere
SIORRR i @ Ui G2 BT 3ldbelel B2 33 3 a¥ Dl SloRRAN adl goll [Option ID = 12419]

4. Use natural rate of population growth for the intercensal period and use it to project population for the year/soa: Sepren srafer 3 Siedc? 3R F G2 BT
IWRIPT B2 SRR i DI AR (Slod &2 - 3 G2) Dol 3R $AD ARIR W 3A ay &I SleRR adr goit [Option ID = 12420]

Correct Answer :-
e Estimate the arithmetic rate of population growth for the intercensal period and use it to project population/sfoe: Sopen 3afe @ fere SleRrR=N gfy bt
3icpaIfOIctRI G2 BT 3lIcbetal B2 A Il G2 Pl 3A ayf 6t SerRRen adr goit [Option ID = 12417]

88) 'The Limits to Growth' theory is associated with:

[Question ID = 10606][Question Description = S2_qSNz_PG_PPS_Q88]
1. Paul Ehrlich/dfet efefa [Option ID = 12421]

2. Nathan Keyfitz/smert difteest [Option ID = 12422]

3. Club of Rome/dera sifw Je1 [Option ID = 12423]
4. United Nations Environment Programme/3RJs g, wRifasur drfaar [Option ID = 12424]

Correct Answer :-
e Paul Ehrlich/dier ufefa [Option ID = 12421]

89) Which is the civilization from which the concept of urbanization has spread?

forgoiferRaa fop1 AT A 9reD0T Bl IaerRvN gaIfed g3 ?
[Question ID = 10607][Question Description = S2_qSNz_PG_PPS_Q89]

1. Mesopotamia civilization/3Ridlerfdren &t 3m=rcn [Option ID = 12425]
2. Nile Valley civilization/sfler arct <6t 2m=rer [Option ID = 12426]

3. Harappan civilization/aswr &t 3w=iar [Option ID = 12427]

4. Sumerian civilization/Jifar &t 2mserar [Option ID = 12428]

Correct Answer :-

® Mesopotamia civilization/#ialerfdrr &bt Js1ar [Option ID = 12425]

90) Which among the following was introduced by Brundtland Committee Report?
forgarfeiRaa 3t A 5 goscis Afdfer PO grer 3mRs1 o= R e ?

[Question ID = 10608][Question Description = S2_qSNz_PG_PPS_Q90]
1. Sustainable Development/iamufer faeprer [Option ID = 12429]

2. Sustainable Development Goals/Emvfler famrt cgr [Option ID = 12430]

3. Millenium Development/sqrsct fdert [Option ID = 12431]

4. Ultimate Change/sierary uf¥ador [Option ID = 12432]

Correct Answer :-
e Sustainable Development/3amruflr faarr [Option ID = 12429]




What is the probability of death from age 1 to 9?

ad 1 3 9 &l s>y B ke Fgeg bt FHsireran vt 3 ?

[Question ID = 10609][Question Description = S2_qSNz_PG_PPS_Q91]
1. 0.23

[Option ID = 12433]
2. 0.0158

[Option ID = 12434]
3. 0.0027

[Option ID = 12435]
4. None of the above/3uwb 3 3 DIE ordt

[Option ID = 12436]
Correct Answer :-
e 0.23

[Option ID = 12433]

What is the probability of surviving in age 65-69?
ad 65 - 69 &t da & 3y i Iasiiiaar &bl Asirerar @R 3 ?

[Question ID = 10610][Question Description = S2_qSNz_PG_PPS_Q92]
1. 0.860

[Option ID = 12437]
2. 0.90

[Option ID = 12438]
3. 0.139

[Option ID = 12439]
4. 0.393

[Option ID = 12440]
Correct Answer :-
e (.860

[Option ID = 12437]




According to this table, the numerator and denominator for calculating age-specific mortality rate in age 10-15 is

3 AR & 3eRIR 10 - 15 bt 3Ry aof 3 fafifdee iRy Hdeh I3y <2 Bl svren 3g IRRATeID AT 3UfIEIRID Biol -AT 3 ?

[Question ID = 10611][Question Description = S2_qSNz_PG_PPS_Q93]
1. 367 and 94263 respectively/m@gor: 367 uvd 94263

[Option ID = 12441]
2. 367 and 470467 respectively/@aer: 367 vd 470467

[Option ID = 12442]
3. 367 and 5986161 respectively/@ma9r: 367 vd 59,86161

[Option ID = 12443]
4. None of these/3uxfcb 3 A @IS orat

[Option ID = 12444]
Correct Answer :-
® 367 and 94263 respectively/agtor: 367 wd 94263

[Option ID = 12441]

The total person-years lived after age 80 is

atf 80 it airg D arc RIT 318 @t AR - adf @it - A & ?

[Question ID = 10612][Question Description = S2_qSNz_PG_PPS_Q94]
1. 252616

[Option ID = 12445]
2. 1095094

[Option ID = 12446]
3. 114028

[Option ID = 12447]



4. None of these/3wfep 3 3 I ot
[Option ID = 12448]

Correct Answer :-
® 252616

[Option ID = 12445]

The difference between Age-specific mortality rate ,/M, and probability of death is due to:

fafAfde Mg g &= ,m, Ud 9 &1 YHId & did AR [bd PRU TR ?

[Question ID = 10613][Question Description = S2_qSNz_PG_PPS_Q95]
1. Difference in the numerator/ziz=Ier® 3 32 & dRU
[Option ID = 12449]
2. Difference in the denominator/sif$temrras 3 3i2 @ wIRur
[Option ID = 12450]
3. Difference in both the numerator and the denominator/3iz=Iers vd SIfdIRID Sloll 3 32 B BRUT

[Option ID = 12451]
4. None of these/3wfw 3 3 I oiet

[Option ID = 12452]

Correct Answer :-
e Difference in the numerator/3ixIoid 3 3idR @ DBIrRur

[Option ID = 12449]

Topic:- PopStudies_SHAAN_NOV21C

1) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world's most populous
country, with 1.35 billion people. China comprised 87% of the region's population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region’s population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.



forgotferfia srerior @ edmIgdd Ugdm? ofll U a1e gl & 3az difme ©

aef 2010 3 ydl cforn & snardl coner 156 w5 2 A6l sreraar o1 23% . el gforR T AR 31f2rd AT arelr 391 o - 33l mardt 135
DA ot 3 &I DY et St @1 87% <ot & eft 3fie 8 % Aroht 12.7 w3¥s sirurer i off 2005 - 10 & Sherar fird Sfiaer yemmon wd et
Yslololdl G2 SIoIHIRIA 3U A @A 74 ad ud 1.7 Stod ol Fuse 3 1 A sifds e Hu A ol b gonsil @l e & 1950 - 55 3 et 3
Sifael geanon ud et 3ddl 62 40 ad vd 6.2 Stodt ar 1970 arct gors 3 dict Bl IRDR of YSIololdl Pl Dol 3q s 9 Do 3018 3R ulurma
Fa>U Gl Ysloleldl 52 1969 3 6 Stodil 21 1980 3 2 2 oSt 3iferd 36 sRil 321 i i smardt 2005 - 10 @ Gikrat 0.6% yfer ad &f 2 1 56
3 oft aftpal A iy o2 Br a1 8 ik gg smardt st diq 52 A a6 Wi 331 Sil sud yd @ «iq a1fer A Brea ysiolordr g2 oI geridl & 2010 ao
e - 3RY 35 adf aw uger gebl it 3iiz et 48% Jnardt orsd Xl A 3 W ol MU wd At HIADI A I8 SIUTel TAT Usell Y AATST AT
SI81 SIolifcpcbRI QAT 8l 61 AT TSI 95 D Sl $9I 3 Sl Stotifepddl zfie I STl A 3l famlia &

Given below are two statements
Statement I: Nearly about 9/10 of the population of East Asia resides in China
Statement Il: Demographic characteristics of East Asia predominantly express the demographic characteristics of China

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@eret - | ¢ ydf ofdrn &t snardl ot cener 9/10 sier <ot 3 %6 %81 3

@ - |l : gdf ofdrn & seiifiedRn froraard #z1 $u 3 ot & stetifiedn froraansii o gorfedt &
IRl el @ 31l 3 forerfeiRaa fraseul 3 A & 3= gt ¢

[Question ID = 10614][Question Description = S2_qSNz_PG_PPS_Q96]

Both Statement | and Statement Il are true/erer | 3iiz |1 cloli 2@ & [Option ID = 12453]

Both Statement | and Statement Il are false/wmeret | 3ii || Sloil siere & [Option ID = 12454]

Statement | is true but Statement Il is false/@erer | 3 8 , Afdsor @weror || sricr 8 [Option ID = 12455]
Statement | is false but Statement Il is true/memwr | sRicr & , cifdbor el || 31 & [Option ID = 12456]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/wesr | sz |l Gi6il 2@t & [Option ID = 12453]

2) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world's most populous
country, with 1.35 billion people. China comprised 87% of the region's population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region’s population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.

foraifeiRae srerior @l eareIgd® Ugd: ofid U s gesil a5 3az v ©

adf 2010 3 ydf ofdrm & snerst cenet 156 ois et el Areradr a1 23% . ol giorR @I AR S1feras NI darelr 91 o - AP mEEt 135
RAs Al 7 &I DI et St o1 87% <iot 3 off 3R 8 % el 12.7 o213 Ssiuret 3 ot 2005 - 10 @ Sieret 3R Siidel YeA1om ud agel
Yslololdl &2 IIHItA 3U A BA: 74 ad ud 1.7 Siea il Iusce 3 b A sifps Foa U A <diel Dl gomnsii @l fGxaera & 1950 - 55 3 <ot 3
Sftdel Yeamelr vd aet Jdvar ¢ 40 adf ud 6.2 Soat e 1970 ardt cors 3 <ol Bl FIDR o YSIeloldl B BT 3, &5 a3 DS IoTT iz ufdumar
TaBU el Yelololdl 62 1969 & 6 Srodtl 21 1980 3 2 3 oiirsT 3iferes %6 SRt 321 81 &t smardt 2005 - 10 & Sierer 0.6% yfer ad & &2 A a6
& oAl afvor Az gl g3 BrR @1 8 aliz gog aaict i «fiq 52 A 96 28 1331 il sad yd @ «iq aifer 3 Brza Ysiotoler g2 @i gorldl 3 2010 ao
AR - 3 35 adf a uga gbl i siiz cemeT 48% MEEt 916dt &Il 3 36 Wl off IRIU ud Il PRI A 9162 SUTel TAT Usell Y AT o1
SI8I SIGIIfCpdRT AT Bl BT AT TSI 95 DA Sl $9I 8 Sl Sholifepddl zfte A Siurel A e famiRia &

What percentage of the population in this region resides in rural areas?

33 &8I bl EIST @1 foaon gferora syeiivr i # forart madr 8?7

[Question ID = 10615][Question Description = S2_qSNz_PG_PPS_Q97]
1. 48%/48% [Option ID = 12457]
2. 50%/50% [Option ID = 12458]
3. 52%/52% [Option ID = 12459]



4. 54%/54% [Option ID = 12460]

Correct Answer :-
® 48%/48% [Option ID = 12457]

3) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world's most populous
country, with 1.35 billion people. China comprised 87% of the region's population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region’s population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.

forgatfcii¥ad srenor ol &RAolgdd uGm? ofld f$u 31e gusil @ Ik SIS :

adf 2010 3f ydi of9rn &l snarSt cenet 156 ais i Arell dAretadr @I 23% . ol gioRI @I AR Jf2Id MEIET drell 91 o - AP mEEt 135
RAs Al 7 81 DI et 3t o1 87% <iot 3 off 3R 8 % el 12.7 o2ls suret 3 off 2005 - 10 @ Sikret 3R Siidel YeAronm vd agel
Yslololdl G2 3IGIHIRA 3U A BA9r: 74 ad ud 1.7 Soat ot Fuse 3 b A sifps ge Hu A ol & gonsil @l Rwema & 1950 - 55 3 et 3
Sfidel Yeateln ud @et Sdvar 2 40 ad ud 6.2 Sioa a1 1970 drcl gord 3 ol Bl IRDR ol YsTololdl BA DIl 3 &3 &3 DSH IoMT 3iT ufduma
TaBU el Yelololdl 62 1969 & 6 Srodtl 21 1980 3 2 3 oSt 3if2res %8 SRt 321 81 &t smardt 2005 - 10 & ckerer 0.6% yfer ad & o2 A a6
& oAl cfvor Az gl g3 BrR a1 8 aiiz gog amaict il «fiq 52 A 96 2t 1331 il sad gd @ «iq aifer 3 Brza gstotolar g2 @i gorldl 3 2010 ao
AR - 3 35 adf ao uga gbl i siiz cemer 48% MarEt 91Bdt &Il 3 36 Wl off IRNU vd Il PRIDI A 9162 SUTel TAT Usell Y AATST o1
ST81 STolifcpebIRI AT X BT AT 3ITST J5dA D 3l $9I 8 Sil Slefifdpabl fte A SIrure A i fplE 3

How many years did China take to reduce its TFR from 6 to 2?

lol @I Uil a3eT Ystotoldl G2 6 A 2 ol 3 fpdol adf el ?

[Question ID = 10616][Question Description = S2_qSNz_PG_PPS_Q98]
1. 10 years/10 ad [Option ID = 12461]
2. 11 years/11 axdf [Option ID = 12462]
3. 12 years/12 ad [Option ID = 12463]
4. 13 years/13 ad [Option ID = 12464]

Correct Answer :-
e 10 years/10 adf [Option ID = 12461]

4) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world's most populous
country, with 1.35 billion people. China comprised 87% of the region's population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region’s population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.

fogatfeiRad srerior @l eareIgd® Ugd: ofid fu s gesil o 3az v ©

adf 2010 3 ydf ofdrm & smarst cenet 156 ais et el Areradr a1 23% . iol giorRI @I AR 3feras NI darelr 91 o - AP mEEt 135
As Al 1 81 DI et 3t o1 87% iot 3 off 3R 8 % el 12.7 o213 suret 3 ot 2005 - 10 @ Sieret 3iiRida Sfiael Yeamonm ud aget
Yslololdl &2 IIHItA 3U A BA: 74 ad ud 1.7 Siea il Iusce 3 b A sifps Foa U A <diel Bl gomsli @l fGxaerra & 1950 - 55 3 <ot 3
Sftdet Yeanelr vd aet Jdvar ¢ 40 adf ud 6.2 Seat a1 1970 ardt gors 3 <fiol Bl FDR o YSIeloldl B BT 3, a5 a3 DS IoT iz ufdumar
FaBU el Yelololdl 62 1969 & 6 Srodtl 21 1980 3 2 3 eirst 3iferes %6 SRt 321 81 &t smarét 2005 - 10 & Sierer 0.6% yfer ad & o2 A a6
W oAl afvol Az gl g3 Brr a1 8 aliz gig it i «fiq 52 A 96 2 1331 Sl sad gd @ «iq aifer A Brza Ysiotolear g2 @1 gorldl 3 2010 ao
AR - Y 35 adf a uga gbl i siiz cemeT 48% MEEt 91Bdt &Il 3 36 Wl off IRIU vd Il PRIDI A 9162 SUTel TAT Uscll Y AT o1



SIgl StotifcbdblRI JFMHAUT B 36T AT TSI dgd DA Bl oI T Sl Slotifebdl zfte A siarel A sfera famlia &

Which among the following is correct in the light of the above paragraph?

JWRITH STEni9r & ufsga A foreot 3 A Blot - AT A8 & ?

[Question ID = 10617][Question Description = S2_qSNz_PG_PPS_Q99]

More than 75% population is below 35 years/75% 3 siférs smarct 35 adf 3 offa 3 [Option ID = 12465]
More than 50% population is below 35 years/50% 3 sifér smarct 35 adf A offa & [Option ID = 12466]
Less than 75% population is below 35 years/75% 31 @a1 smarct 35 adf 3 offa & [Option ID = 12467]
About 50-75% population is above 35 years/cwrser 50 - 75% smardl 331 adf 3 uz 8 [Option ID = 12468]

A wWw N =

Correct Answer :-
® More than 75% population is below 35 years/75% 3 siféra smrarct 35 adf 3 offad 8 [Option ID = 12465]

5) Read the given paragraph and answer the questions that follow

In 2010 the population of East Asia was about 1.56 billion -i.e. 23% of humanity. China was the world’'s most populous
country, with 1.35 billion people. China comprised 87% of the region’s population and Japan (127 million) an additional 8%.
During 2005-10 average life expectancy and total fertility were estimated at about 74 years and 1.7 births respectively.
Clearly, these figures largely reflect conditions in China. In 1950-55 China's life expectancy and total fertility rate were
about 40 years and 6.2 births. In the 1970s, the Chinese government introduced very strong measures to reduce fertility
and, as a result, the TFR fell from about 6 births in 1969 to just over 2 in 1980.

The region's population was growing at about 0.6% per year during 2005-10. But, this growth rate is falling, and the
population is also getting older at a fast pace- reflecting its earlier fast fertility decline. By 2010 the median age was already
as high as 35 years, and about 48% of the population was residing in urban areas. Out of Europe and North America, Japan
was the first major society to experience demographic transition. Few countries today are more demographically advanced
than Japan.

forgotferfia srerior @ eArIgdd Ugd? ol 3T a1e gl & 3a= difvm ©

adf 2010 3 ydl cforn &l snarél cpner 156 w5 @il A6l sireraar o1 23% . el gforRm T AR 31f2rd ] arelr 391 o - 33l mardt 135
DA oft 33 81 Y Bt 3naIS} b1 87% Aot I ot 3z 8 % Areht 12.7 wAs siurat i et 2005 - 10 & Sirel siiId Sfidel Yeamon vd ael
YSIololdl &2 IGIHIA 34 A A 74 ad ud 1.7 Sied il Jucc 3 b A sifps FgF=a U A el b gomnsii ol fGaema & 1950 - 55 3 <ot 3
Siidel Y9N ud aget 3ddr <2 40 ad ud 6.2 Sieat em 1970 arcl €91 3 ol Pl IRPR of YSlololdl DA D0l 3, 95 I3 PcH 3IolU 3R ulumar
Fa>U Gl Ysloleldl 52 1969 3 6 Stodil 21 1980 3 2 27 oSt 3iferd 36 sRil 321 i i smardt 2005 - 10 @ Sirat 0.6% yfer ad &f 2 1 56
& ol cifepor As gl g2 Br a1 3 3z g smardt sifere «ig g2 A 96 2l 31 5l s yd @ g aifer 31 Bra ysietorar g2 @l goridl 3 2010 ao
e - 3RY 35 adf dam uga gebl it siiz et 48% JNErdl orsdl Sl A 3 W ol JRIU wd At HIADI A I8 SIUTel TAT Usell Y AATST AT
SI81 STolifcpcbRI QAT 3l 61 AT TSI d5d D Sl $9I 3 Sl Stotifepddl zfie 2 siarel A 3iferp famla &

Which among the following are correct in the light of the paragraph?

A. East Asia's demographic scenario is overwhelmingly influenced by China's situation
B. China is demographically most advanced in this region

C. Japan is demographically as advanced as North America and Europe

D. More than half of the population in the region lives in rural areas

Choose the correct answer from the options given below:

arerior @ ufstg=r 3 forvat 3 A Blot 211 I 3 ?

A. ydf ofdrn ot Setifisdrr uf¥egw sifermar arsen & Rrafer 21 genfaa 3

B. stetifépcbiRI zfte 3 331 81 3 ot Jaifres fola 3

C. Srotifepdin efte 2 simuret 308l 3prieT a IR Ridon fawla &

D. 31 &Iy bt ameft A st siffras snardt syEhivr S 3 &

il f3u a1 fraseul 3 A W IR DI wRIT BRI :

[Question ID = 10618][Question Description = S2_qSNz_PG_PPS_Q100]

A, B and C only/dact A, B 3iiz C [Option ID = 12469]
A, C and D only/dsaet A, C siiz D [Option ID = 12470]
B, C and D only/dact B, C sfiz D [Option ID = 12471]
A, B, Cand D/A, B, C siiz D [Option ID = 12472]

A w N -

Correct Answer :-
e A, Band Conly/@acd A, B siiz C [Option ID = 12469]



Topic:- GP_29NOV_A

1) Study the given table carefully and answer the questions that follow

[Train  [Source |DestinationDistanceSpeed [Fair per [Total |Reserved
Number|Station (Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 (130 3000 680 (400

1002 B Q 1080 |160 3600 870 |550

1003 |C R 1280 |[155 2800 650 (350
1004 D S 1250 |130 2900 980 620

1005 [E T 1180 125 3200 780 [520

fou sre Aevfl Bt eaoIgde U 3 GARUT Dol A geoil @I Iar Sifte ¢

g\ﬂ i L%TITEI’I
eIIST 210 )5 o | (gfercafes wmear  pBrRidEa
i ot e |10/ |(RBAR g o o
) H.)
1001 A P 1200 130 3000 680 400
1002 B Q 1080 160 3600 870 |550
1003 |C R 1280 155 2800 650 |350
1004 D S 1250 130 2900 980 (620
1005 [E T 1180 125 3200 780 (520

Which train has minimum per km cost?

fop=1 <ot 9 gfer .. a1 Sotaia & ?

[Question ID = 201][Question Description = S2_qSNz_PG_GP26_Q01]
1. 1001

[Option ID = 801]
2. 1003

[Option ID = 802]
3. 1004

[Option ID = 803]
4. 1005

[Option ID = 804]
Correct Answer :-
e 1001

[Option ID = 801]

2) Study the given table carefully and answer the questions that follow

Train [Source |DestinationDistanceSpeed |Fair per Total |Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 |130 3000 680 (400

1002 B Q 1080 |160 3600 870 |550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 |130 2900 980 |620
1005 [E T 1180 125 3200 780 (520




e s1u AArvfl @ eaogd® U 37 3EIRIRYT B30l arcl gesil o IR I :

ol e L%smn
eISt i SideI (gferafep @ma  pBrRidEa
i ot e |10/ |(RBAR g o o
€.) H.)
1001 A P 1200 [130 3000 680 400
1002 B Q 1080 |160 3600 870 |550
1003 |C R 1280 [155 2800 650 (350
1004 D S 1250 |130 2900 980 620
1005 [E T 1180 [125 3200 780 (520

Which train will take maximum time to reach the destination?

lol - AT ol side > ugtlel 3 e HIRT ceNesil ?

[Question ID = 202][Question Description = S2_qSNz_PG_GP26_Q02]
1. 1001

[Option ID = 805]
2. 1003

[Option ID = 806]
3. 1004

[Option ID = 807]
4. 1005

[Option ID = 808]
Correct Answer :-
e 1001

[Option ID = 805]

3) Study the given table carefully and answer the questions that follow

[Train [Source |DestinationDistanceSpeed [Fair per [Total |Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 [130 3000 680 |400

1002 B Q 1080 |160 3600 870 |550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 |130 2900 980 620
1005 [E T 1180 125 3200 780 |520

feu o1 ARl B eaoIgde UG 31 3GIRIRVT 2ol arel gesll T e SIfSru :

o o Lﬁfmn
oISt e STdRT (gfereafep et PrRidra
s fRorr et (1P |(RRAR i oM o
[el.) .)
1001 A P 1200 |130 3000 680 400
1002 B Q 1080 [160 3600 870 |550
1003 (C R 1280 |155 2800 650 (350
1004 D S 1250 [130 2900 980 (620




1005 [ T 1180 |125 3200 780 |520

Which train has minimum number of vacant seats?

fop=1 ot Jf zarcit it &t Ryeras i 3 ?
[Question ID = 203][Question Description = S2_qSNz_PG_GP26_Q03]
1. 1001

[Option ID = 809]
2. 1002

[Option ID = 810]
3. 1003

[Option ID = 811]
4. 1005

[Option ID = 812]
Correct Answer :-
e 1001

[Option ID = 809]

4) Study the given table carefully and answer the questions that follow

Train  [Source |DestinationDistanceSpeed [Fair per [Total Reserved
Number|Station [Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 [130 3000 680 |400
1002 B Q 1080 [160 3600 870 |550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 |130 2900 980 620
1005 [E T 1180 125 3200 780 [520

fou s1u ARt @ eaAToIgdes UG 3R SIGIRIRUI ol drcl Ygoll ol 3k SIfSTg ¢

e i L%ﬁmn
PTISY N STen (gfereafep wf@er  prRfdra
i ot e |10/ |(Rodl g o o
.) H.)
1001 |A P 1200 [130 3000 680 (400
1002 B Q 1080 |160 3600 870 (550
1003 [C R 1280 |155 2800 650 (350
1004 D S 1250 [130 2900 980 (620
1005 [E T 1180 |125 3200 780 |520

What is the average of the number of vacant seats for all trains?

209k ol 3 zarcht i o1 siiera aar 3 ?

[Question ID = 204][Question Description = S2_qSNz_PG_GP26_Q04]
1. 302

[Option ID = 813]
2. 304

[Option ID = 814]
3. 306



[Option ID = 815]
4. 308

[Option ID = 816]
Correct Answer :-
e 302

[Option ID = 813]

5) Study the given table carefully and answer the questions that follow

Train |Source |DestinationDistanceSpeed |Fair per [Total Reserved
Number|Station (Station (km) (km/h) |person(Rs) [Seats [Seats
1001 A P 1200 [130 3000 680 |400

1002 B Q 1080 |160 3600 870 |550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 |130 2900 980 620
1005 [E T 1180 125 3200 780 [520

fou s1e Avfl ®1 eaeIgde U 3 GARUT el A geoil oI Iar Sifvte ¢

A
oISt 210 Sieren (gfereafep wfamer  prRfdra
i pRorer o |10/ |(ReAR g o o
.) H.)
1001 |A P 1200 [130 3000 680 (400
1002 B Q 1080 |160 3600 870 [550
1003 |C R 1280 |155 2800 650 (350
1004 D S 1250 [130 2900 980 (620
1005 [E T 1180 |125 3200 780 (520

What is the time difference between the train which takes the maximum duration and the train which takes the minimum
duration?

3if2rad AR cPTeaIctl ol 3R RIoIad IR cloliol alcil gol @ did MR - i1l fpdon 3 ?

[Question ID = 205][Question Description = S2_qSNz_PG_GP26_Q05]
1. 2.78

[Option ID = 817]
2. 2.64

[Option ID = 818]
3. 2.86

[Option ID = 819]
4. 2.68

[Option ID = 820]

Correct Answer :-
e 2.78

[Option ID = 817]

Topic:- GP_29NOV_B

1) The name of the MOOC platform developed by IIT Kanpur is

3rE 3$ & brogR BRI famlia Jo @ (wicwt) or oe 3 -
[Question ID = 206][Question Description = S2_qSNz_PG_GP26_Q06]



SWAYAM/ ==t [Option ID = 821]
Causera/®Rfr [Option ID = 822]
mooKIT/#fdse (MOOKIT) [Option ID = 823]
MOOCK/#as [Option ID = 824]

A W N -

Correct Answer :-
® SWAYAM/Zwi [Option ID = 821]

2) In the role of a test constructor, how should a teacher proceed?
. Prepare test items that match the instructional objectives

. List the major course or unit objectives

. Prepare a table of specifications

. Specify the course or unit content

m O 0O W >

. Discard unrealistic objectives

Choose the correct answer from the options given below

up uigivl foratar bt sfdrmt 3, o forgrd bt YR 319l agon ?

A. udtervr At (3115Ta) DI TR Dol Sl M[SINTHD 32931 A et FId 3l

B. ¥z urgaaza 3rerdar sors 389l Ot I Sotroln

C. faforscarsii &I ARVl R woen

D. urgadd sterdr sb1E siddyq ol fay iier Soir

E. srarzafaa 329l @l g1 Soir

ofi o s1u fwedl & A A8 IR BT wRI6l HIfvIT :

[Question ID = 207][Question Description = S2_qSNz_PG_GP26_Q07]

1. A, B, C, D, E [Option ID = 825]
2. B, E, D, C, A[Option ID = 826]
3. C, A, E, D, B [Option ID = 827]
4. D, B, E, C, A [Option ID = 828]

Correct Answer :-
e A, B, C, D, E [Option ID = 825]

3) Given below are two statements
Statement I: The brain continues to develop throughout childhood and adolescence.
Statement II: The logical and goal-directed actions begin in the sensorimotor period.

In light of the above statements, choose the most appropriate answer from the options given below

ofiI &t perer Ru sme 3 :

Dol - | : sUe 3R fpolRTazen @ Sikiel ARTSD PI fIPRT BIar I &

Pl - || : @b i cag - forfdee gl bt 9ad AA8) Qe (13 AieR) sraf?r 3 At 3
SR DUl D 3irelid 3, oflA v a1e fameul 3 A AT IWITD IaR DI RI6l DI
[Question ID = 208][Question Description = S2_qSNz_PG_GP26_Q08]

Both Statement | and Statement Il are correct/@emt | 3iz Il glell &t & [Option ID = 829]

Both Statement | and Statement Il are incorrect/aermer | 3iiz |l Gleil steta & [Option ID = 830]

Statement | is correct but Statement Il is incorrect/@emw | 3@t 8, fpoq @l |l s & [Option ID = 831]
Statement | is incorrect but Statement Il is correct/@emwr | ster 8, fbog wemwer |l 2@t 8 [Option ID = 832]

AW N -

Correct Answer :-
e Both Statement | and Statement Il are correct/@memwr | 3iR 11 Gleil 28t & [Option ID = 829]

4) An undergraduate degree with Honors in a discipline may be awarded if a student completes
A. 14 core papers in that discipline

B. 2 Ability Enhancement Compulsory Courses

C. 2 Research paper published in any UGC CARE listed journal

D. Minimum 2 Skill Enhancement courses

E. 4 papers each from a list of discipline specific elective and generic elective papers

Choose the correct answer from the options given below:



fop21t forerr 31 siorRt @ AT Folraa Iunf? ygrel &t it A@dl 3 Al v fenelf gar w2 o 3 :
A. 33 faw= 3 14 g Uz

B. 2 s Jiatiel @ siforart urgays

C. g,shtf. & siasta Jdag Rp=ht sofer 3 ymifora 2 ofterue

D. RIereaan 2 wigrar Jatiel urgray

E. fafdrse dopfeud 3iiz AmIe (Sieife) dofeus fRreril &t gt 3 A g o1 & ar uqg
il fou s1u frepeul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 209][Question Description = S2_qSNz_PG_GP26_Q09]

A, B, C and D only/aact A, B, C sliz D [Option ID = 833]
A, B, D and E only/dact A, B, D siiz E [Option ID = 834]
B, C, D and E only/a@aet B, C, D siiz E [Option ID = 835]
A, C, D and E only/d@aet A, C, D iz E [Option ID = 836]

A WN -

Correct Answer :-
e A, B, Cand D only/aact A, B, C 3iiz D [Option ID = 833]

5) Match List | with List Il

List | List Il

Govternment of India Projects Purpose

A. Shodhganga I. Expert database + Researcher network
B. SWAYAM PRABHA Il. Thesis database

C. Vidwan lll. Online content delivery platform

D. SAKSHAT IV. DTH educational channel

Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera HifSe :

oxet -1 Rxeh -1l

(TR IRPR UlRISIeNg) (3Z9a)

A. onemion I. fadrust srera + onerreff olcaas

B. Farigem Il. ofrergaier sTereRT

C. fgror 1. srretetrset sicdaq Fgdoht #a (ceiewiaf)
D. mgma IV. 31 & va difdre Jotex

oifY feu aru famedl 3 A 8 3R gforo :
[Question ID = 210][Question Description = S2_qSNz_PG_GP26_Q10]

A-11,B-1V, C-1,D -l [Option ID = 837]
A-1V,B-1,C-lll, D - Il [Option ID = 838]
A-1,B-1ll,C-1I,D- IV [Option ID = 839]
A-1I,B-11,C-1V, D - [Option ID = 840]

A w N =

Correct Answer :-
e A-Il,B-1V,C-1,D-Ill [Option ID = 837]

6) The exercise of reviewing the relevant literature is most closely related for which one of the following?

grifdrs wfdcr Fafien ool o1 Rl forcifelRaa 3 A foperY Jaiferes forwedasn wu A wHdfeea 3 ?

[Question ID = 211][Question Description = S2_qSNz_PG_GP26_Q11]
1. Formulating research problems/ ofter er=sit @ foiféfa wem [Option ID = 841]

2. In drawing a sample for the study/sreRIer @ fere sigen amzavr 3t [Option ID = 842]

3. For analyzing quantitative data/ae® g oI vt o2l @ fere [Option ID = 843]
4. Generalization of the finding/3ucifeer @1 Jmeeeitas2or [Option ID = 844]

Correct Answer :-
e Formulating research problems/olter Jer=msii @l foiféfa o [Option ID = 841]

7) Which among the following is an example of descriptive statistic?

forgoifeiRaa & A dlor avieiicars ARIDY 1 v 3g1801 8 ?
[Question ID = 212][Question Description = S2_qSNz_PG_GP26_Q12]



Chi-square/df - sa@=r [Option ID = 845]
Regression/yfeemior [Option ID = 846]

Standard deviation/ameid faacter [Option ID = 847]
t-statistic/& - Jrifizrbt [Option ID = 848]

AW N -

Correct Answer :-
® Chi-square/dt - 3a®Rr [Option ID = 845]

8) Which among the following are the source of threat to external validity?
A. Sample characteristics

B. Novelty/uniqueness of stimulus

C. Improper manipulation of I.V.

D. Lack of motivation on the part of the participants

E. Reactivity of the assessments

Choose the correct answer from the options given below:

forgatferRaa 31 3 el arar derar & SHRas & Pa 3 ?

A. yfercef faoraam

B. 3Ziuet @1 sioporuet / sifgelizrar

C. 3. dl. &l 3RisId SIS - dIs

D. reueh & 3= 2 siftrgzur &t waft

E. gcaaior bt gferfepReadar

ofid o s1u fwedl & A A8 IR BT wRI6l BT :

[Question ID = 213][Question Description = S2_qSNz_PG_GP26_Q13]

A, B and D only/daet A, B aiiz D [Option ID = 849]
B, D and E only/d>aet B, D siiz E [Option ID = 850]
C, D and E only/asaet C, D i E [Option ID = 851]
A, B and E only/a@act A, B siiz E [Option ID = 852]

A W N -

Correct Answer :-
e A, BandD only/dact A, B sfiz D [Option ID = 849]

9) Given below are two statements
Statement I: Sample sizes for qualitative research vary by technique but are generally small.
Statement II: Qualitative research involves non-probability sampling.

In light of the above statements, choose the correct answer from the options given below

ofial &t perer Ru sme 3 :

@l - | : puncaA® oNer @ fere yfercol iR dwmoiidl GRI fireot Bld & Afdpel AT WU A oy &
el - || : spIcas oner 31 - FHererar yfercel ot onfrer waar 3

SWRfed Uil @ sirciidd A, ofia feu a1g fameul 3 A A& IR DI TIel BIfSIE :

[Question ID = 214][Question Description = S2_qSNz_PG_GP26_Q14]

Both Statement | and Statement Il are true/wmere | 3ii || @loll 311 & [Option ID = 853]

Both Statement | and Statement Il are false/@erer | 3iiz || Slail sRicr & [Option ID = 854]
Statement | is true but Statement Il is false/weml | A= 8, fboq et |l srRi=r & [Option ID = 855]
Statement | is false but Statement Il is true/esermr | sRI &, fpoq @erwe |l 3= & [Option ID = 856]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 1 Glell 31 & [Option ID = 853]

10) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Student's t-statistic is a robust statistic.

Reason R: Student's t-statistic can yield accurate analysis of data, even if some of the assumptions of parametric statistics
are violated.

In light of the above statements, choose the correct answer from the options given below

i ot Pl fGu 3w 8 @ U Ifdrpeat (Assertion A) @ ¥u d 3R GRI 3D PRI (Reason R) @5 »u 3 :



siffrperet (A) : fenelf o1 & - Ailksad! v goe AilRsadt 3

@rur (R) : feneff @1 & - Ailcrdt yraftrs Aifisdbt & gafoermil d Icciae bt siel U2 3% o o1 i@ feduvT o Ao 3
SWRITP Pall D 3Melid d, offd 3w fasedl 3 A A8 IR &1 wRIet Hifste :

[Question ID = 215][Question Description = S2_qSNz_PG_GP26_Q15]

. Both A and R are true and R is the correct explanation of A/(A) siiz (R) il 31 8 3z (R), (A) &t 36t =mzn & [Option ID = 857]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iz (R) gleil 3 & waq (R), (A) &t 3d careen orét & [Option ID = 858]
. Ais true but R is false/(A) 3= 8, woqg (R) sric & [Option ID = 859]

. Ais false but R is true/(A) sric 3, wog (R) A= 8 [Option ID = 860]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sz (R) gleil 31 2 3iR (R), (A) &t A&t =mezn & [Option ID = 857]

11) In communication, a shrug of shoulders indicates

IAYYUT 3, Deil DI IJaDIeI IdDd 3 -

[Question ID = 216][Question Description = S2_qSNz_PG_GP26_Q16]
1. Responsibility/3meiRica [Option ID = 861]

2. Honesty/sameert [Option ID = 862]

3. Interest/=fa [Option ID = 863]
4. Indifference/3crfterar [Option ID = 864]

Correct Answer :-
e Responsibility/3azeiRica [Option ID = 861]

12) Which one of the following is a strategy to overcome communication barriers?

forgotferRaa 31 3 PBlet AYWUT F1en3ii BY g3 B0l HI v wrehfer 3 ?

[Question ID = 217][Question Description = S2_qSNz_PG_GP26_Q17]
. Setting of ground rules/smenf3e forEl @1 @1 w2em [Option ID = 865]

. Aggression /st [Option ID = 866]

. Advance technology provision/3sold ddolfldi giaerst [Option ID = 867]

. Use of jargon/grecsiret @t 3wier [Option ID = 868]

A W N -

Correct Answer :-
e Setting of ground rules/smenf¥a formeAl @1 aRr w2er [Option ID = 865]

13) The communication between two persons through letters is an instance of:

udql @ A A I AfpAl @ dia APy 5T 3518201 & ?

[Question ID = 218][Question Description = S2_qSNz_PG_GP26_Q18]

. Intrapersonal verbal communication/siea: difepd onfeca 2iguur [Option ID = 869]
Intrapersonal nonverbal communication/siea: Jifepa sienfege uur [Option ID = 870]
Interpersonal verbal communication/siaz - dRfepd enfece 2iuur [Option ID = 871]
Interpersonal nonverbal communication/siaz - d@ifep® stenfesd 2iguur [Option ID = 872]

AWN—\

Correct Answer :-
e [ntrapersonal verbal communication/siea: difeped onfdga ot [Option ID = 869]

14) Which one of the following is an example of form of New Media?

forgsifer3aa 3 3 wlel wad oRI Yol @ HifSar 1 v Io1E301 8 ?

[Question ID = 219][Question Description = S2_qSNz_PG_GP26_Q19]
1. Newspapers/@m@R ug [Option ID = 873]

2. TV/&dt [Option ID = 874]

3. Radio/3f= [Option ID = 875]

4. Instagram/s3cwpa [Option ID = 876]

Correct Answer :-
e Newspapers/@@Rr uqg [Option ID = 873]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In classroom communication, Socratic questioning is one of the effective strategies to promote understanding.
Reason R: Feedback through student evaluation of teachers enhances the quality of classroom communication.

In light of the above statements, choose the correct answer from the options given below



il 3l erel fRu sre 3@ uep sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
siffrperet (A) : @er AYUUT 3, Javuddl Yool - A1 werst D1 ggrol &I gerndl wehifer 3 A vw 3

BRI (R) : PIgl @& Feaicwa Gl frenfPRi & smepEr A gfege et At &bt spradar o g6t 3l 3
IWRITP Peall D el A, offd fBu faasedl 3 A A8 IR 1 TRIe Hifste :

[Question ID = 220][Question Description = S2_qSNz_PG_GP26_Q20]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) g¥eil 31 & 3z (R), (A) &l 3@ =z 8 [Option ID = 877]

Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) @il 31 8 weag (R), (A) &t &t = ot & [Option ID = 878]
A is true but R is false/(A) 3= 8, wag (R) sri=x & [Option ID = 879]

A is false but R is true/(A) sric1 8, wog (R) A= 8 [Option ID = 880]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 31 3 3l (R), (A) &t A&t =mezn & [Option ID = 877]

16) Given below are two statements
Statement I: At 8.55% rate of simple interest, a certain sum will be doubled in 12 years.
Statement II: In 3 years 1000 will become ¥1331 at compound interest rate of 10% per annum.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@erel - | : Aremvr <iarst @ 8.55% bt 52 A, uop forfra w1for 12 auf 3 Soyelt 3t sostt
weret - |l : gferad 10% &t amgfy sarst &t g2 21 1000 . et auf 3 1331 . 31 smwsn
SRt el d 3irelld 3, offd fu sre fameul 3 A JE IR @I w6t HIfdIE
[Question ID = 221][Question Description = S2_qSNz_PG_GP26_Q21]

Both Statement | and Statement Il are true/@eret | 3ii |1 @loll 31 & [Option ID = 881]

Both Statement | and Statement Il are false/@perer | 3iiz || Slail sRicr & [Option ID = 882]
Statement | is true but Statement Il is false/@ermer | 311 8, febog weret |l sRicr & [Option ID = 883]
Statement | is false but Statement Il is true/memwr | 3R &, febog meret || A= & [Option ID = 884]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/@erwr | 3iR 1 Gleli 311 & [Option ID = 881]

17) Which of the following statements are correct?

A. The sum of three consecutive multiples of 3 is 72. The largest number is 27.
B. A number when multiplied by 13 is increased by 180. The number is 13.

C. The average of first 20 multiples of 7 is 73.5.

Choose the correct answer from the options given below:

forgotfeiRaa werwell uz AR @3 -

A. 3 & cfior EIP saact oI AT 72 3 AT 931 3w 27 @

B. ua ¥izeam 3 13 A opom oot 180 &t qfyy; &t oiclt 3 2o 13 3

C. 7 & gz 20 & suacd o siiia 73.5 8

SWRITD Dol i A Dol A 3 ?

[Question ID = 222][Question Description = S2_qSNz_PG_GP26_Q22]

. A and B only/daet A siiz B [Option ID = 885]
. B and C only/dsae B siiz C [Option ID = 886]
. Aand C only/daet A siiz C [Option ID = 887]
. A only/aac A [Option ID = 888]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 885]

18) When a sum of money was distributed to 12 boys instead of 16 boys, each boy got ¥40 more. What was the sum?

SId BURI I U AT BI 16 TSI D SolRT 12 cISsdl A dicT SR dl, YD casdl 40 . 3if2rd urn ag afdr o= oft ?

[Question ID = 223][Question Description = S2_qSNz_PG_GP26_Q23]
1. 1290



[Option ID = 889]
2. 1920

[Option ID = 890]
3. 480

[Option ID = 891]
4. 840

[Option ID = 892]
Correct Answer :-
e 1290

[Option ID = 889]

19) The ages of Lokendra and Dharmendra are in the ratio 6:5 and the sum of their ages is 44 years. What will be the ratio
of their ages after 4 years?

clidog 3i1= edfg &t 3Ry i 6:5 1 3Igpurd & 31 Iordl AR 1 AT 44 adf T 4 ad arg Iorhl 33 DI SroIuId I et ?

[Question ID = 224][Question Description = S2_qSNz_PG_GP26_Q24]
1. 8:7

[Option ID = 893]
2. 7:8

[Option ID = 894]
3. 7:6

[Option ID = 895]
4. 9:7

[Option ID = 896]
Correct Answer :-
e 8:7

[Option ID = 893]

20) In the series 9, 18, 36, --- what will be 12th term?
9,18, 36 &t it s ___ 12 ai uc o= aien ?

[Question ID = 225][Question Description = S2_qSNz_PG_GP26_Q25]
1. 18556

[Option ID = 897]
2. 18652

[Option ID = 898]
3. 18232

[Option ID = 899]
4. 18432

[Option ID = 900]

Correct Answer :-
e 18556

[Option ID = 897]

21) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Denotation cannot be used to define words that have an empty extension
Reason R: Although connotation determines denotation, denotation does not determine connotation

In light of the above statements, choose the most appropriate answer from the options given below

il St werel i3u s1e 3@ uwep sifdrperet (Assertion A) @ %u 3 iz ¢RI 3> ®RuT (Reason R) @ w4 3 :
stfdrperet (A) : FRorel o1 IURNET VA 9166t B Uf¥HIRIT 2ol 3 ol fipan it Ad Sl 6 ot - fFarard ar
ot (R) : ety sigeorel soenel @1 Rrezor wear 3, ggeoaref sigeorel a1 Breror ol waan

SURITb Dol D Il H, ofld fGu famcal 3 A 73l 3a= ®1 TRIel Hifsrw :

[Question ID = 226][Question Description = S2_qSNz_PG_GP26_Q26]



Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciall 3t 3 32 (R), (A) &I 3 «rn & [Option ID = 901]

Both A and R are correct but R is NOT the correct explanation of A/(A) sz (R) Sl & & u3oq (R), (A) &t udt =men o1dt & [Option ID = 902]
A is correct but R is not correct/(A) @l @ weoq (R) @t oét & [Option ID = 903]

A is not correct but R is correct/(A) 3@ oiét 2 wag (R) 3t @ [Option ID = 904]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) cleil &t & 3k (R), (A) &t & == & [Option ID = 901]

22) ldentify the fallacy committed in the argument
All cats are animals.
All dogs are animals.

Therefore, all dogs are cats.

33 dD AIG:d A Dlol AT QY 3 ?

it fafeerit Sierar &

3l ol StiolaR 3

[Question ID = 227][Question Description = S2_qSNz_PG_GP26_Q27]

Fallacy of Four Terms/«ar ugl arert g [Option ID = 905]

Fallacy of the Undistributed Middle Term/sifdefs steer ug arenr giw [Option ID = 906]
Fallacy of the Exclusive Premises/fdfdre smenzararil arent grw [Option ID = 907]
Existential Fallacy/sif¥acause® g [Option ID = 908]

A WN =

Correct Answer :-
e Fallacy of Four Terms/ar uct arerr g [Option ID = 905]

23) Identify the fallacy committed in the following argument:
"American Indians are disappearing.
That man is an American Indian.

Therefore, that man is disappearing.”

forgatferiRaa adsara=r & Sy @1 usaifoe :
"3t s facidl a1 338 &, as caftp v 3Afydl secli=r 3; safee ag cafp facrd srwrd "
[Question ID = 228][Question Description = S2_qSNz_PG_GP26_Q28]

1. Fallacy of Composition/3isfer - ara [Option ID = 909]

2. Fallacy of Division/fsiiRp - gt [Option ID = 910]

3. Fallacy of Accident/3uifer - g [Option ID = 911]

4. Fallacy of Converse Accident/3uifér - wrrr - giw [Option ID = 912]

Correct Answer :-

e Fallacy of Composition/zisfe - gra [Option ID = 909]

24) The condition that there should be an absence of contradiction in the relation of the objects denoted in the
combination of words, for the sentence to be significant is known as which one of the following?

araI & Arefe ot @ foru Wt ord Rl orect & Joar i forfdte awqaii @ Ader 3 RrlemirT ©r spia a8, freifeRaa fewr wu 3 Strer sirar 3 ?

[Question ID = 229][Question Description = S2_qSNz_PG_GP26_Q29]
Akarksa/smpigm [Option ID = 913]

Yogyata/=s=1ar [Option ID = 914]

Sannidhi/=feter [Option ID = 915]

Tatparya/arcwf [Option ID = 916]

A WN -

Correct Answer :-
o Akarksa/smwien [Option ID = 913]

25) Given below are two statements
Statement I: A vyapti between two terms of equal extension is called Samavyapti.
Statement II: The relation between fire and smoke is that of Samavyapti.

In light of the above statements, choose the correct answer from the options given below

ofla oI @erot feu a1e 3 ¢



el - | ¢ Al AR @ 9 ucl @& & =nfit @ el war siar 3

weret - | : 3t i ¥ & i Ader et 3

SR el @ 3irclld 3, il fu sre fameul 3 A 38l IR @I w6l BRI
[Question ID = 230][Question Description = S2_qSNz_PG_GP26_Q30]

Both Statement | and Statement Il are true/@emwr | sz |l Sieit 2ier & [Option ID = 917]

Both Statement | and Statement Il are false/@verer | 3iiz || Slail it & [Option ID = 918]
Statement | is true but Statement Il is false/@emer | 311 8, fboq et |l srRI=r & [Option ID = 919]
Statement | is false but Statement Il is true/wmemwr | 3R &, febog weret || A= & [Option ID = 920]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/weel | 3R |l Gi6il =1 & [Option ID = 917]

26) The World Wide Web (www) is

dacs aI5s dd (Socy Socg Socd) B -

[Question ID = 231][Question Description = S2_qSNz_PG_GP26_Q31]

. A massive network of networks which are made up of various computers/slcamt @1 v sifeifdrne olcad St &b sl BwIei 3 doll g3 & [Option ID = 921]

. The Internet makes use of TCP/IP protocol/seoie <t =it ut / 38 di gicidier @l 3wiel wer & [Option ID = 922]

. A company which allows a user to connect to the Internet/@usft Sit yilcpt @t colc A JSol 6t saleid oar & [Option ID = 923]

. A collection of multimedia web pages and other documents which are stored on websites/sccisfifEn da Uil 3l s/ G2R GASI @I 2 Sl b daise @
9UsIfda (3XRs) fpe s & [Option ID = 924]

A w N =

Correct Answer :-
® A massive network of networks which are made up of various computers/clcam! @I v sifeiidolet slcdd Sil fb 3l PRIl A doll 3 & [Option ID = 921]

27) Hypertext Transfer Protocol (HTTP) is

BFUR AT JAB2 QA (Tadidd) 3 :

[Question ID = 232][Question Description = S2_qSNz_PG_GP26_Q32]

. Transfering file from one computer to another/ued ®wie2 3 2R 9 BIscl @I FAwEIaRvl den [Option ID = 925]

. A text-based protocol used when sending emails /<3t 915K JWRI ¢a=e ey Yiclplel I 3wisl & [Option ID = 926]
. Protocol used to find an IP address/ams. dt. vt yra @2ol 3t Qicidicl ol =it dwar & [Option ID = 927]

. Fetching an HTML document from a web server/v® daRidz 3 va & it vel geadst @l forpreter [Option ID = 928]

A w N =

Correct Answer :-
e Transfering file from one computer to another/ud ®wic2 A R 3 Wiscl ®I FeAGIHARU Bl [Option ID = 925]

28) Given below are two statements regarding phishing.
Statement I: It is a program code that can replicate itself with the intention of deleting files.
Statement Il: It can be filtered but at the Internet Service Provider's (ISP) level.

In light of the above statements, choose the correct answer from the options given below

fiRio1 & JAder 3 offar 3t et Ry s 3 :

@l - | : U8 v QoA @IS 3 Sil Wiscll @l &clol D 3893 A Ul el FRIR ©2 IDdar 3
@l - |l : a8 $cole Aar ygIar @ ¥R UR fibeez fosn s aravar 3

SWwRIP sl d el 3, o e sre fameul 3 A 8l IR @I w61 BRI ©

[Question ID = 233][Question Description = S2_qSNz_PG_GP26_Q33]

Both Statement | and Statement Il are true/eml | siiz |l G¥eil 31 & [Option ID = 929]

Both Statement | and Statement |l are false/@meret | 3ii || Sl sRir & [Option ID = 930]
Statement | is true but Statement Il is false/ermer | 31 8, foq @eret |l srir & [Option ID = 931]
Statement | is false but Statement Il is true/wpl | sRI=I &, fboq et |l A= & [Option ID = 932]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/eer | 3l |l Gl6il a1 & [Option ID = 929]

29) Which of the following statements regarding Intranets are correct?
A. The Intranet can be accessed from anywhere by anyone

B. The Intranet has public access

C. They are more secure than internet

D. In Intranet, it is possible to control external links

Choose the correct answer from the options given below:



geole @ Ade I forafeiRaa et 3 5K &, 38 ea ot gol ©

A. scolc @I Suiel {5l & gRI B& A o v st JImar 3

B. $corc o1 Ardsifore IuRIeT 3Iar 3

C. a sevole & s sifer JaAda 3

D. geoie 3, ara o3l (i) o forifea won 3ea

il fou o1 fraseul 3 3 A IR BT TI6Tl HISIE :

[Question ID = 234][Question Description = S2_qSNz_PG_GP26_Q34]

1. A, B and C only/dsaet A, B siiz C [Option ID = 933]
2. Cand D only/aaet C sfiz D [Option ID = 934]
3. A, Cand D only/a@aet A, C siiz D [Option ID = 935]
4. B and C only/a@aet B sfiz C [Option ID = 936]

Correct Answer :-
e A, Band Conly/dact A, B siiz C [Option ID = 933]

30) Match List | with List Il

List | List Il

Name of Memory SizeNumber of bits|
A. MB (Megabyte) |, 230

B. GB (Gigabyte) II. 2%

C. TB (Terabyte) . 220

D. PB (Petabyte) Iv. 240

Choose the correct answer from the options given below:

el -1 @ 3 -1l A Fafera bifSie

et -1 et -1l
A. gar &t (deTrerse) . 230

B. it &t (sftemmarsc) 11, 250
C. & &t (%rarse) . 220
D. ot & (deraréc) Iv. 2

il feu o1u faasedl 3 A A8 3R gforo :
[Question ID = 235][Question Description = S2_qSNz_PG_GP26_Q35]

A-11,B-1ll,C-1,D- IV [Option ID = 937]
A-1ll,B-1,C-1V, D - Il [Option ID = 938]
A-11,B-1l,C-1,D- IV [Option ID = 939]
A-1,B-1,C-1ll, D - IV [Option ID = 940]

A wWw N =

Correct Answer :-
e A-Il,B-IlIl,C-1,D-IV[Option ID = 937]

31) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The in-situ passive soil remediation process is the easiest to implement and the least expensive

Reason R: It relies upon several natural processes to destroy the contaminants

In light of the above statements, choose the most appropriate answer from the options given below

ofl 3l ool iR s 3@ up sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
aifdrperet (A) © ¥4 - Ferel foifSaya JeT Uk g B U6l AR MTRAT6T 3R AeR] o Fclcn 3

@Yl (R) : u1s AfFaoull Pl AT B0l &I fafdcor grapfere yfdgen uz ok 3

SWRITD Doil B D i, ofid e Riwcul 3 A A 3= &1 TR Hifste ¢

[Question ID = 236][Question Description = S2_qSNz_PG_GP26_Q36]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciali 38t 3 3z (R), (A) &1 36t «n & [Option ID = 941]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil & @ wdsq (R), (A) i A&t wmen a1df & [Option ID = 942]
3. Ais correct but R is not correct/(A) 3@t @ wog (R) 2@t ot & [Option ID = 943]

4. Ais not correct but R is correct/(A) 3@t oiét @ udog (R) 3t & [Option ID = 944]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil 3@t & 3z (R), (A) 6l 3@ == & [Option ID = 941]



32) Dewatering of sewage sludge can be achieved by
A. Gravity thickening

B. Mechanical stirring

C. Osmosis

D. Floatation

E. Screening

Choose the correct answer from the options given below:

SIeT - J1c1 @ blas Bl JHrol B1 BRI fpad Grr s s @ 8 ?

A. 315ca Rearvr

B. ifeye facis®

C. RRU

D. wraet

E. oo (Fagifsien)

il feu aru faraedl 3 A A8 IR @1 WRIet B :

[Question ID = 237][Question Description = S2_qSNz_PG_GP26_Q37]

A, B and D only/d@act A, B sfiz D [Option ID = 945]
B, C and E only/@aet B, C siiz E [Option ID = 946]
A, C and D only/dacr A, C siiz D [Option ID = 947]
C, D and E only/a@saet C, D ik E [Option ID = 948]

AW N =

Correct Answer :-
e A, Band D only/dact A, B siiz D [Option ID = 945]

33) Match List | with List Il

List | List Il

Acts 'Year of Inception
IA. Water Prevention and Control Actll. 1986

B. Air Prevention and Control Act |[Il. 1974

C. Environment Protection Act ll. 1987

D. The Factories Amendment Act [IV. 1981

Choose the correct answer from the options given below:

et -1 B e -1l A g e

et -1 et -1
(siferforerar) (g1 ot a)
A. stct forarzur aitz Rriqur sfRifdrE . 1986
B. arg ferarvr aitz Rriqur afiforma Il. 1974
C. uatazor zizeror aftiferTa . 1987
D. Bach sioderor aftiform IV. 1981

il fou o1 frseul 3 3 A IR gfor ©
[Question ID = 238][Question Description = S2_qSNz_PG_GP26_Q38]

A-11,B -1V, C-1ll, D - I [Option ID = 949]
A-11,B -1V, C-1,D- Il [Option ID = 950]
A-1V,B-1ll,C-1,D - Il [Option ID = 951]
A-1ll,B-1,C-1I, D - IV [Option ID = 952]

A W N -

Correct Answer :-
e A-Il,B-IV,C-IlD-I[Option ID = 949]

34) Which one of the following isotopes of Uranium is fissile material and can be used for nuclear reactions?

forgatferi¥aa 3 A1 Dlel AT v JRMoRIA DI 3MsAICIU fedsa ugref 3 3R onfirbiR siffifdpen @ fere ggop fopen st 1w 3 :

[Question ID = 239][Question Description = S2_qSNz_PG_GP26_Q39]
U-234/U-234 [Option ID = 953]
U-235/U-235 [Option ID = 954]
U-236/U-236 [Option ID = 955]
U-238/U-238 [Option ID = 956]

A w N =

Correct Answer :-



e U-234/U-234 [Option ID = 953]
35) Rain is termed as acid rain when its pH value is
quf Pl il auf @ U 3 SIiell ST & S 33I@I pH Ica & ¢

[Question ID = 240][Question Description = S2_qSNz_PG_GP26_Q40]
1. 1-3/1 - 3 [Option ID = 957]

2. Less than 5.6/5.6 3 @a [Option ID = 958]

3. 5.6-7.0/5.6 - 7.0 [Option ID = 959]

4. More than 7/7 31 siféis [Option ID = 960]

Correct Answer :-
e 1-3/1 - 3 [Option ID = 957]

36) Who chaired the first committee constituted by Government of India on Women's education after independence?

Fadqal @ d1c Afcsil b I8 Uz HRA IRDR FRI s1fda yerEr ARl &I sreerar fpera &t ?

[Question ID = 241][Question Description = S2_qSNz_PG_GP26_Q41]
1. Dr. Radhakrishnan/st. aremgwurer [Option ID = 961]

2. Dr. Durga bai Deshmukh/st. gotfars Sergza [Option ID = 962]

3. Hansa Mehta/gar dsar [Option ID = 963]

4. Kamala Chaudhary/aaren dierst [Option ID = 964]

Correct Answer :-
e Dr. Radhakrishnan/st. 2renagwrer [Option ID = 961]

37) Disruptive technologies in education mean

181 3 frercordsl aweiiat @1 ifdigrRr 3 :

[Question ID = 242][Question Description = S2_qSNz_PG_GP26_Q42]

1. New technologies that completely change the way things are done in education/orft Awsiia> fSrior Stgrfore yfdpen &t disit @t yufaen acer fe=m 8 [Option ID =
965]

2. Prevention of technology in education/feign 3 daoftas bt et [Option ID = 966]

Use of Artificial Intelligence/m@fe gfig @1 3wiier [Option ID = 967]

4. Obsolete technology/smaferd dawaftas [Option ID = 968]

w

Correct Answer :-
e New technologies that completely change the way things are done in education/srft aaofldd forter dieifvre yfepen bt fisii @t yulaen aget fzn & [Option ID =
965]

38) Given below are two statements

Statement I: "The improvement of Secondary Education was an essential foundation for the improvement of Secondary
Education”, was the view held by the Calcutta University Commission

Statement Il: The Calcutta University Commission recommended the use of mother tongue in the intermediate colleges for
teaching all the subjects

In light of the above statements, choose the most appropriate answer from the options given below

il ol el fdu 3w 3 ¢

@Yol - | : "areaide 19181 3 Femr ameafd re 3 JUR D ot sifcesTaygui sneR o1 AE SRR werddr faafienery IRIBT BT or
Dol - || : Dot feafdenern RIPT of A3l ARl B ugel & fo1u scddiidue dicsll 3 ATGHINT B IJuAeT DI IGIRAT b
SWRITP Bl d sirelid 3, ofid fRu s1e freedl 3 A AT U TR I a6l HIfSte :

[Question ID = 243][Question Description = S2_qSNz_PG_GP26_Q43]

Both Statement | and Statement Il are correct/wmeret | 3ii |1 gloff 31t & [Option ID = 969]

Both Statement | and Statement Il are incorrect/aerer | iz 1l QXail sicta & [Option ID = 970]

Statement | is correct but Statement Il is incorrect/@erwr | 3@t 8, fbog @ere |l sieia & [Option ID = 971]
Statement | is incorrect but Statement Il is correct/@erw | stera 8, fbog Peet | 2t 8 [Option ID = 972]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are correct/@emwr | aiiz 11 gleil 31dt & [Option ID = 969]

39) The presence of which of the following points poses challenge for higher education system as per NEP-2020?
A. Large affiliating universities

B. Ineffective regulatory system

C. Limited teacher and institutional autonomy

D. Emphasis on research



E. Efficient merit based career management and progression of faculty members

Choose the correct answer from the options given below:

orAt forgm ofifer - 2020 o srepIR 3<a g 3 fepme geilferit fiver forgorferRaa figsit 3f yaqa axdl 3 ¢
A. gaa Jdlg faeafdencrn

B. srgsirdl faformae <mazen

C. fif¥ra Rigre® 3iiz Jirenford Farmdar

D. oner uR st

E. ce&i Mear smenfra dier gderet iz Bacd Agil & aga

oifd fu sru frpeul 3 A Al IR DI TR DIfSTU :

[Question ID = 244][Question Description = S2_qSNz_PG_GP26_Q44]

1. A, B and C only/dact A, B siiz C [Option ID = 973]
2. B, Cand D only/@qa B, C siiz D [Option ID = 974]
3. C, DandE only/a@ae C, D sfiz E [Option ID = 975]
4. A, D and E only/daet A, D 3iiz E [Option ID = 976]

Correct Answer :-
e A, Band Conly/dact A, B siiz C [Option ID = 973]

40) Match List | with List Il

List | List Il
Schools of Philosophy Propounders
A. Samkhya . Gautam
B. Nyaya Il. Kanada
C. Vaisheshika lll. Kapila

D. Purvamimansa IV. Jamni

Choose the correct answer from the options given below:

el -1 @1 3 -1l A Fgaifera Hifste ¢

et - et -1
(celet @ frar FYygrr) (Yferarc)
A. Atz |. aiicar
B. Gorr Il. @urg
C. 39w Il wfrer
D. g iz IV. Sifdreft

il fou a1e fyseul 3 A A IR gfom ©
[Question ID = 245][Question Description = S2_qSNz_PG_GP26_Q45]

A-1,B-1Il,C-1V, D - Il [Option ID = 977]
A-11,B-1,C-1V, D - lll [Option ID = 978]
A-1I,B-1,C-1I,D- IV [Option ID = 979]
A-1IV,B-1ll, C-1l,D - [Option ID = 980]

A w N =

Correct Answer :-
e A-1,B-1ll,C-1V, D - Il [Option ID = 977]

Topic:- GP_29NOV_C

1) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18th century and scientific advances in the 19th century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,



James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

oflx f3u arerior @l ufeu iz sz ifvie @

g2 sfeert 3, Sfiael @ Iga ol aRARI @ fére diell oI 3P Ul da, didoden iR el &l 3R & 261 3iiR 3nil am ggd A vl @I €6
ferareT enfifes sfell 3 ford s1u aedl 3 a1 8 3R $=il @I Uil o2 Uil el aorn sirar 2a1 & 18 df 1<t 3 anfdsasar arer Jyo1 @ 3MPriel A, Sraen
ofl, SIIHaSIo ARl GRI YRITA febu Silol 3R 31 siofdsiod Ufegivl 3 Uol @ GRI Sliel Bl TPISH DI Adse f[pr ST ADT

1865 3, slar Avsel, v R¥zrar A1¢) Ricslol e 8 auf A suSer ez UR U6l YT &2 1 A, Ioslel dsifold SPIA 3 fyun e
fafdree fadraamg, srerar cgror, irar-forar A et Fafer 3 Herfda siiz yaloErr adid A remcrafyd gu  sad W@l arcd sifder & Yrpfere arior
3= faprT @ Rigia @ 1859 & ywmiome, 'genferil & 3gd’, # aarm sri b Avsa &l st Sfiaea & 3ga dl YIRITa RRRIT Foldb? 3rogdifdrdt
st @ fore ues arvr Fenfia fRen

JoNfera JgaciORi 6 FsrIar), dsufore! i RN archl GBIl & sif¥aca siik Jivden &t st e 20 df It @ usdl GP D AR
3, Bl U= ol arell AfaRi(|,cwenr$) uR fopu SR gRIeIl A udr el o P9I & oyfreriT 3 sraf¥era piaRF Sfi A fofdfa & grdifeen
AMHAIG U A B IS DSl Sliol dredl Yerat Sfifad Bra off fSRieT sie1aifdre $u A AxIRige! o srn 1944 3, siaare wdldl of 3t wel w A
forfdfar sropaifdres Asor arsm @ Hu 3 Jadiin i uR Si6r ardr SfiA @1 udr cemrn 1953 3 Se dicr iz GikRRT g o 3t ol T @ 15
pusierll &t st fivar Rrads fére 3saiol 9 ad ag slldc YR gid i g Je1-ul¥aderast st @ GRI Jgasialdstiol sfider & ifodbt
&l Idpifere Fuse a¥dlz Folrol 3 AWel 8l SR Sfidel @ IS @l Sl D 1w Y dsmform 3 el D RMUd 3eldifdrd AGIRIGUI O Fdclel
@ gfer urca fosm

What is the meaning of ‘empirical evidence'?

‘3o dSIoR] ATSA DI 3M9RI =T & ?

[Question ID = 246][Question Description = S2_qSNz_PG_GP26_Q46]
1. based on observation and capable of being verified/smaciidor @ 3meR U2 iR ANAA 2ol cIRID

[Option ID = 981]
2. based on received knowledge/sgur fopu sRI iTel U2 Smenfya
[Option ID = 982]
3. based on knowledge from historical empires/v Rk APl & Silol W 3menf¥a

[Option ID = 983]
4. based on mythology and folklore/dizifid aerr 3z clias dver u2 aimenfya

[Option ID = 984]

Correct Answer :-
e based on observation and capable of being verified/smciiaer @ 3imen2 2 3ii2 AcfUd Slol cIRID
[Option ID = 981]

2) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18tn century and scientific advances in the 19:» century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.



oflx f3u arerior @l ufeu iz sz ifve @

g3 siderRt 3, Siidel @ 3gd df IRSRI @ fe1u disll Bl g™ URINIG oI, didbddl 3R &6 DI 3R & 261 3R 3nil ao dgd A dPll @I €6
forearzt enfifes sjeil 3 o s1w aesl 3 a1 3 3R 32t @1 Wil &2 Ui 3ol aern sirar w61 3 18 & 1<t 3 anfderan arer Yot & PP A, Kidon
ofl, sropasIoRI ALl SRI YRIRI fepu el 3R 33 siopdsicl ufgivl 31 uRdel @ GRI Siiel &l gl P JAdse o ST ADT

1865 3, slar Avsel, v RRIal A1¢] Ricslol el 8 aul A suSer Aez UR UGl YAPI B2 W A, Ioslel dsiifold SPIA 3 Hyvn fen o
fafdree foraarg, srerar cgror, Jirar-forar A smaett Fafer 3 Herfda siiz yaloErn adfid A remcafyda g sad Wl arced sifder & grpfere arior
3z fapr1 @ Rigia @ 1859 @ ywmiome, 'genferil & 3gda’, # aarm sri b Avsa &l st Sfiaed & 3ga Dl YIRTa RIRRIT Foldb? 3rodifdrdt
et @ fore ues arvr Fenfia fpn

Jonfera Jgacifll & FerIar!, dsfore! 3 @RI arct BIfdrewRil @ sif¥daa sz Hden &I @ist fieenr 20 o A8t & use 91D D IR
3, w1 u? FBol arcl ARERII(B,cwerrs) uR e sRI GBI A udr e 5 oifdret @ oyfirerrT 3 sraf¥em qieiig sfiw 2 forldfa & griifsen
AHAIGT U A B IS DSl Sliol diell Yo Stifad Sra off fSRIwT sieidifdre U A AxIRige! o srn 1944 3, sikaare wdidl of 3 wel © A
forfdfer sroaifrd Aocor ared & FU 3 dadiizn 3 URI Sirel arcl il o ual cemRn 1953 3 =1 dicrd 3R BRI figd of 3 wol v @ dlee
pusiereil &I s o Br1d fore Iegiol 9 ad a6 dllde YR gi i g® Je1-uf¥aderarl Hisl @ gRI Jgasiialdsiel sfiaet &I iferdbt
&l Idpifere Fuse a¥dlz Folrol 3 AWel 8l SR Sfidel @ IS @l Sielal D 1w Y dsmform 3 el & Rad 3eldifdrd AGIRIUI O Jdcrel
@I Ygfer urcd fopm

According to the author, what were the initial sources of information for understanding the beginning of life?

CRA® D AR, Sildol bl B3I Bl Aol D fe1u SIeIPRl & YRt Jda o= o ?

[Question ID = 247][Question Description = S2_qSNz_PG_GP26_Q47]
1. Scientific discoveries/dsuféra st
[Option ID = 985]
2. Folk knowledge and scriptures/clia @bt el 32 eefsjer
[Option ID = 986]
3. Imaginative literature/@cuform nfder

[Option ID = 987]
4. Discoveries of Mendel and Darwin/adwse 3iiz sifdor &1 zdist

[Option ID = 988]

Correct Answer :-
e Scientific discoveries/dsmford st
[Option ID = 985]

3) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18tn century and scientific advances in the 19:» century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

ofla feu srenior o ufew siiz saz difse ©

Q2 sferert 3, Siiaa @ 3ga & IRl & fére disll @I gora UlkIbie we, diddar iR epf &l 3 8 a1 sz spfl ao aga A ol oI €6
feraret enfifes sfall 3 ford s1e aedl 3 a1 8 3iR sl @I Uil &2 Uidl 3ol R sirar 2e1 & 18 df 1<t 3 anfdsasar arcr Jgo1 @ 31erie A, Krasn



ofl, SIoIMasIo AT SRI YR fpu Sifol 3R $1 Siopdsiod Ufegivl I UEol @ GRI Slel Bl 3ATPig Pl Aqse o= S ABT

1865 ¥, sar Avsd, va R¢rel ATe) Ficslel firear 8 adf A suSal Aicz U= 31usl YRIPI 2 38 &, Joalol dsiifold SII 3 v s 6
faforse froraard, sterar cagror, Jrar-far A smaeht FHafer 3 Heifda siiz yafadrn afid A remciaf¥a g sad AreEl arcsd sifdfer & grpfire axrer
3R faprT @ Rigia @ 1859 @ ywmiere, 'JEicRil @ 3gd’, 3 9arI R b dvse ol Fisl Sfiae @ Igd Dl YIRITA RIRSAT Jold2 eldifordbt
forsirel & fere vep @RuT Fenfira fapen

Jonfera Jgacidfi 6 Asrar), dsuform! i MR arcll Bifdrmisil @ sif¥dca 3iiz Jvdon &t s fisanr 20 df A1 @ usd Grd & 3R
3, Wel U= ol dicil ARRRIN(E, c¥els) UR fopu SRl YIBI A Udl dcll b PIdrDT @ oyfderRi 3 sral¥era miaRie s A fofdfa 4 SRilfteen
AHIGA FU A BT DSl Silol arcil yera sfifeaa fBra et i1 sefaifdres su 3 aeifiqur fooar srr 1944 3, sierarer galdl of 3t ol T A
forfdfer sropaifdre Ascor arse @ Hu I Jadif # urY sire arar Sz o1 udr ePmrn 1953 3 ST dicere ik GIRRT e of 31 vol U & 1Y
pusiertl &t s e fSrrd fére 3saiol 9 ad ac dide YR git fn g Jgor-uldaderast st & gRI Jgasialsed sfiast & aifebt
&l AdpIfci Fuse d¥diR Jollol 3 AWl 8l SRl Siidol @ PIS Pl Silelol @ 18 Y dsiiferd 3 HAleld @ RIMUD 3Iodifdrd HATGIRIGUI & IHdelel
@I Yfer urcd fopm

What is the theme of this passage?

$31 39l BT Hel-faerr o= 3 ?

[Question ID = 248][Question Description = S2_qSNz_PG_GP26_Q48]
1. Origin and mechanics of life/3ga sfiz Sfiaor & wifebt
[Option ID = 989]
2. Scientific knowledge from ancient times/yrcfior 2wrI @ dsmfors ol
[Option ID = 990]
3. Structure of cell/®Idrpr 6t o

[Option ID = 991]
4. Belief versus science/smmzen gomat firsiretr

[Option ID = 992]

Correct Answer :-
e Origin and mechanics of life/3ga iz Sfiaer < =rifebt
[Option ID = 989]

4) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18:n century and scientific advances in the 19:» century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species'. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

oflx feu arerior ol ufeu iz 3az difse ©

Q3 sfererRt 3, Shladl @ 3ga &l IRIRI @ fére sl @1 Fgora UlIfdie wal, diddar iR ept &l iR 3l a1 3k spfl ao g A bl oI €6
forarar enfifes sjell 9 fora s1u aesil 3 a1 3 3l =t @1 il g2 Uil 31el agrRn sirer 261 3 18 df 216t 3 anfdasar arer Jot o PR A, Ridoen
8il, SIoleIdasIod AT GRI YR fpu Sifol 31 1 siopydsiodd Uf¥givl I UBol @ GRI Slel Bl 3TPigh Bl Aqse v S AdT

1865 ¥, sar Avse, vas MR¢rel ATeY icslel fired 8 adf A suSar Aez U= 31Usl YRIPI B2 38 &, Joalol dsiIfold SIPK 3 #Hevn s 6
farforse froraard, srerar cagror, rar-far A el Fafer 3 1o siiz yafaErr afid A remciafyda gu  s3d A1l arcsd sifdfer & grapfere arror
3z faprT @ Rigia @ 1859 @ ywmivmE, 'genferil & 3gda’, # aari sri b Avsa &l st Sfiasd & Iga Dl YIRTa RARRIT Fold? 3rodifdrdht
forstret @ fere v arur Fenfire fpen

JHonfera Jgaciorl & Fer@arI, dsuforml 3 MIARIFT arcll DIfAr®Isll & Rdra 3R den &I Fe fisenr 20 df AT D Uscl GIRD D ARH
3, ®eT U= ol drcil ARRERIN(E, cwels) UR fpu sRI YIBIl A udr et [ PIdreT & ofderrt 3 sralFera oiaRiet s I foufdfa 4 SRilftean



AHIGA HU A B Ul Dl Silol dreil gera sfifaa fSra <t 1w siefaifdrs su A aAreifigur fovar srr 1944 3, sierarer gaidl of St gol @ A
forfdta sroaifrd Aocor are® @ Hu I dadiizn 3 Url Siel arcl Sfi oI ual cemRn 1953 3 S=t dicare iR BilkRI figd of 3t val v @ dise
pusiernell &1 wiet fear Rrid fére Ioslal 9 ad ac ollde UzzeR i e gdo Jor-ufsadorar Fier a5 GRI Jgashafdsiil sitaer &I aifedt
DI AdmIictad Fuse a¥di dollol 3 AW 8l SRl Siidol @ DIS I Silelol @ 1€ Ygia dsiiferd 3 Hleld @ RIMUD 3IoIdifdr® HATGIRIGUI @ Awclel
@1 yfer urca fosm

Whose scientific contributions inaugurated the science of genetics?

fepa1ad> dsfor ARGl of Jrofaifdrdl frsiel w1 9MRY o ?

[Question ID = 249][Question Description = S2_qSNz_PG_GP26_Q49]
1. Charles Darwin/arezt sifdfer

[Option ID = 993]
2. Gregor Mendel /31 duser
[Option ID = 994]
3. Gregor Mendel and Charles Darwin/3pr dwse siiz arci sifdor

[Option ID = 995]
4. James Watson and Francis Crick /3@t areor sfiz wifdrT fipm

[Option ID = 996]

Correct Answer :-
e Charles Darwin/arc3f sifdfar
[Option ID = 993]

5) Read the passage carefully and answer the questions that follows

Throughout history, people have turned to mythology, folklore and religion for explanations of life's origins, and to this day,
there are many who firmly believe what has been written in religious books and passed down from generation to
generation. With the advent of the Age of Reason in the 18t century and scientific advances in the 19:» century, however,
the quest for deeper knowledge could be satisfied by digging for empirical evidence and putting it to empirical test.

In 1865, Gregor Mendel, an Austrian monk who had been experimenting for eight years with garden peas, announced to the
scientific community that specific characteristics, or traits, were transmitted from parent to offspring in an organized and
predictable manner. Along with Charles Darwin's Theory of Natural Selection and evolution, as stated in his 1859
publication, 'On the Origin of Species’. Mendel's work set the stage for the science of genetics to become the prominent
explanation of where life comes from. With the help of improved microscopes, scientists discovered the existence and
structure of cells containing chromosomes. In the early 1900s, experiments with fruit flies revealed that chromosomes
located in the cell's nucleus were made of genes. The Drosophila, commonly called fruit fly, was the first living organism to
be genetically mapped. In 1944, Oswald Avery identified genes in bacteria as genetic messengers made of DNA. In 1953,
James Watson and Francis Crick discovered the double-helix structure of DNA, for which they received the Nobel Prize nine
years later. With each ground breaking discovery, molecular biologists were able to form an even clearer picture of the
mechanics of life. To crack the code of life, prominent scientists proposed compiling a comprehensive genetic map of a
human being.

ofla feu arenior @ ufeu siiz saz difse ©

q? sieerRl &, Silaal @ 3ga &l IR @ fére vl @1 Foa UlIfdie o, diddan iR ept &l iz 3l a1 siik spfl ao aga A bl oI €6
forare enfifes sjell 3 forA s1u ae:il 3 &1 8 iz =it B il g2 Uil 31el agrRn sirer 261 3 18 df 316t 3 arfdesar arct Jo1 @ PR A, Riden
ofl, sIolMasIo AT GRI YRR fpu Sirol 3R 1 siodsiod Ufegivl I Ul @ GRI Siel Bl ATPig Pl Aqse fp=r S ADT

1865 &, sar Avsd, ve R¢rel A1e) Ficslel firea 8 adf A suSal Aicz UR 31Ucl YRIPI &2 38 A, Ioalol dsiIfold I 3 v s &5
farforse froraard, srerar cagror, Jrar-far A smaeht FHafer 3 Hsifda siik yafadrn afid A remciaf¥a g sd A1l arcd sifdfer & grpfire arror
3= faprT @ Rigia @ 1859 & ywmigrel, 'genieril & 3ga’, 3 aarm sri s Avsa &t st siiaer B Iga dl YIsara ARSI Jold? Siogfdifordbt
forsirel & fere vep @RuT Fenfira fopen

J9Nfera Jgacidfil 6 Asrar), dsuform! i DRI arcll Bifdrmisil & sif¥dca 3iiz Jdcn &t st fiseanr 20 df A1t @ usd Grd W 3R
3, wel urR ¥sal arcl ARERII (|, cwerrs) ur fpu SR GRIEI A udr dad &b Ifdre! & Rifderra 3 sraf¥ea qreikRier sfia A foildfa 8 SRifen
AHIGA BU A B U Dl Silol arcil yera sfifaa fBra ot i1 sefaifdrs su 3 aeifiqur fooar srr 1944 3, sierarer galdt of 3t gol g A
forfdfer sropaifdre s or aee & Hu I Jadii # url e arar Sz oI udr ePmn 1953 3 St dicere ik GIRRI e of 3 el U & 1Y
pusierdl &t s e Sr1d fére 3sdiol 9 ad arc e YR gid fien g Jor-ufdaderast st & gRI Jgasialisel sfiaet & ifebt
&I AdmIfcrd Fuse a¥diR Jollol 3 AW 3l SRl Siidol @ PIS Pl Silelol @ {18 Y dsiiferd 3 Hleld & RIMUD 3IoIdifdrd HATGIRIGUI & Hbelol
@I Yfer urcd fopm



What helped molecular biologists to form a clearer picture of the mechanisms of life?

Sitael @ ifepbl Bl Fruse ardlz Joirol 3 Jga SHafernforil @I PRl WerIa grd &8 ?

[Question ID = 250][Question Description = S2_qSNz_PG_GP26_Q50]
1. Knowledge from myths/frerst 31 yra strer

[Option ID = 997]
2. Incentives like Nobel Prize/siier geedR 33t oo

[Option ID = 998]
3. Evidence based discoveries/3mg=n amenfsa st

[Option ID = 999]
4. Technical limitations/aoforbt 2feme

[Option ID = 1000]

Correct Answer :-

e Knowledge from myths/frer! 3 gra sirer
[Option ID = 997]





